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Question Number : 1 Question Id : 5038907953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing term in the series.

F5V, H7T, K10Q, ?
Options :

1. ¥ 014M

2. ® K14P

3. ®¥ FI3P

4. % GI3W

Question Number : 1 Question Id : 5038907953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : (.25

fqu TTu faswedl © ¥, 907 & qwd U &) 1 B

F5V, H7T, K10Q, ?
Options :

1. ¥ 014M

2. % K14P

3. % F13P

4. % G13W

Question Number : 2 Question Id : 5038907954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the term that will come next in the following series.

bat, thin, reply, length, ?
Options :

1. # terror

2. ¥ display

3. % dome

4. ® scolding

Question Number : 2 Question Id : 5038907954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I UG BT g4 BN, S FRGferRad e o SATem S|

bat, thin, reply, length, ?
Options :

1. ® terror

2. ¥ display

3. # dome
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4. ® scolding

Question Number : 3 Question Id : 5038907955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the odd word pair from the given alternatives.
Options :

1. ® Desert : sand

2. % Grassland : grass

3. ® River : water

4. ¥ Forest : Jungle

Question Number : 3 Question Id : 5038907955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U fasedi O 9 favy Weg-gm &1 98 B |
Options :

1. % IRaH: Xd

2. % 9N BT HGH : U

3. % 9dl: Ut

4. 99 . ST

Question Number : 4 Question Id : 5038907956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related word from the given alternatives.

Kangaroo : Australia : : ? : India
Options :

1. ¥ Bengal Tiger

2. ® Peacock

3. ¥ Rhinoceros
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4. % Elephant

Question Number : 4 Question Id : 5038907956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A= uea |, fau 7T faw el § O HefYd Weg &1 9ud &1 |
HIRE Gﬁ@,\ﬁﬂ:ﬂ: REEIL]

Options :
1. ¢ ST TI8TR
2. % OR
3. % ffgr
4. % gt

Question Number : 5 Question Id : 5038907957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letter cluster from the given options.

ARH :RHA :: GTY : ?
Options :
1. % GYT
2. ¥ TGY
3. TYG
4. ® YGT

Question Number : 5 Question Id : 5038907957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ U fdemedl O 9§ Aefdd $1&R THg &l I99- BR|

ARH :RHA :: GTY :?
Options :
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1. ¥ GYT
2_# TGY

3.¥ TYG
4. % YGT

Question Number : 6 Question Id : 5038907958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain coded language, TEN is coded as 93 and FOR is also coded as 93, then which of the following will be the code for ROW?
Options :

1. ¥ 65

2. % 75

3. % 81

4. % 67

Question Number : 6 Question Id : 5038907958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAf¥d e U &, TEN &1 93 & & H forar STl 8 SR FOR &1 T 93 % =u § forar ofran g , df Rwfafad & & Row &1 Fe 1 grme
Options :

1. ¥ 65

2. % 75

3. % 81

4. % 67

Question Number : 7 Question Id : 5038907959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class of 42 children, Deeksha’s rank is sixteenth from the top. Kavita is seven ranks below Deeksha. What is Kavita’s rank from the bottom?
Options :

1. % 22nd

2. ¥ 20th
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3. % 19th
4% 2304

Question Number : 7 Question Id : 5038907959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

42 9 B U Hef |, e Ht ¥b MY 161 81 Hfaan, Sen T 730 R 81 2 A wlaar o1 3w | g?
Options :

1. % 20df

2. ¥ 204

3. % 19d}

4. % 23l

Question Number : 8 Question Id : 5038907960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M, D, R, P and Q are all of different weight. R is only lighter than M and P is lighter than Q and D. If Q is heavier than D, then which of them is
the second lightest?

Options :
1. % Q
2.¥D
3.%p
4. ®# M

Question Number : 8 Question Id : 5038907960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M, D, R, P 3R Q Gt &1 ao SIHT-3e 81 R RIh M A §eh1 ¢ dUTP, Q IR D aHI A gebl 81 Al Q, D A UK B, A1 390 I I gawl
Y Gedl § 2

Options :

1. % Q

2.¥D
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3.%p
4_# M

Question Number : 9 Question Id : 5038907961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are two statements followed by four conclusions given in options. You have to take the given statements to be true
even if they seem to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given
statements.

Statements:
Some exams are not objective.
No exam is descriptive.

Options :

1. ® No objective is a descriptive
2. % All objective are descriptive
3. # Some objective is exam

4. ¥ No descriptive is exam

Question Number : 9 Question Id : 5038907961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR feumuuy 8 @ HU9 & 91¢ fawel & IR fsp AU MU €1 3! fou T8 Sy= ) I J9H1 8, Hal & d Jdamd gt & et ucfia
gd g1 gt el ol ufeu fOhr aa Sifore o fou e fee st & § SIF W1 dHT1d $U F SIIER0 Sl 8, 18 Jaad 9 3 i 8|

hY:

T Wiefl, T Tal 5 |

®Is Wief, faaruners T8 7
Options :

1. # Dls gy, faRomas T8 §
2. % it aegfm, faeRueT® §

3. % PO IME, TWeme

4. ¢ BIE [T, Ten 181 8
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Question Number : 10 Question Id : 5088907962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the question below are given two statements followed by two conclusion numbered I and II. You have to take the two given statements to be
true even if they seem to be at variance with the commonly known facts and then decide which of the given conclusions logically follows from
the two given statements, disregarding commonly known facts.

Statements:
Some teaspoons are glasses.
All teddies are teaspoons.

Conclusions:
I. Some teddies are glasses.
II. Some glasses are teddies.

Options :

1. # If only conclusion I follows
2. % If only conclusion II follows
3. ® If either I or II follows

4. ¥ If neither I nor II follows

Question Number : 10 Question Id : 5038907962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I fou ¢ U= § ) YA 3R 3T 91 o ey 1 3R 11 AT U § | 3mueh! fou U St Syl o) I AT @ Yl 81 3 gdgrd 9l 9
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, ITg aqd 9 3 v gl
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Options :
1% gfe Frad feemt 1 3ITERU Bl g

2. % g Had FHY 11 IR0l HRdl §
3. % gfe a1 ql fFepe 137 11 IR0 okl §
4.« RN Y 1 SRS 11 SRV HRAT §

Question Number : 11 Question Id : 5038907963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given, relations between different elements are shown in the statements. These statements are followed by two conclusions. Find
out which of the given conclusions follow(s) the given statements and select the correct alternative from the given choices.

Statement:
A>B>E<D<F=C

Conclusions:
I.C>E
II. A>E

Options :

1. ® If only conclusion I follows

2. % If only conclusion II follows

3. # If either conclusion I or conclusion II follows
4. ¥ If both conclusions I and II follow

Question Number : 11 Question Id : 5038907963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U Uy H, Y # A4 3rqudl & ol ey ol <1 T 81 HU & 915 &l sy feu 7w §1 R U 99 & 3nyR R st &
3T HIfo MR Ifed I &1 gFT|

DHY:
A>B>E<D<F=C
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I.C>E

II.A>E
Options :

1. % g Fad FIsh [ 3ERU HR1 8

2. % i Had BT 11 SIITRUI IRl §

3. % gie a1 Fsewd 1 a1 e 11 SR a1 §
4.« & Q1 F5H 1 3R 11 SR R §
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Question Number : 12 Question Id : 5038907964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the related number from the given alternatives.

4:12::3:6::5:7
Options :
1. #® 25
2.¥ 20
3. % 22
4. % 30

Question Number : 12 Question Id : 5038907964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3 T faspedl B 4 Aafid e &I gyl

4:12::3:6::5:7?
Options :
1. ® 25
2.9 20
3. % 22
4. % 30
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Question Number : 13 Question Id : 50
Orientation : Vertical

38907965 Question Type : MCQ Option Shuffling : Yes I

Correct Marks : 1 Wrong Marks : 0.25

Find the missing number in the series given below.

10, 14, 19, 25, ?
Options :

1. ¥ 32

2. % 30

3. % 31

4, % 33

GET IT ON

Google Play

} Question Mandatory : No Option

Question Number : 13 Question Id : 5038907965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

e &t it goft & o ke Id B

10, 14, 19, 25,?
Options :

1. ¥ 32

2. % 30

3. % 3]

4. % 33

Question Number : 14 Question Id : 5038907966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

If each circle represents a class of objects/ideas written below, then find out the answer figure which illustrates the best relationship among.

“Potato, Vegetables, Eatables"
Options :
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Question Number : 14 Question Id : 5038907966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

I YA g A 3T 7T axgeil/[aar! &1 gxifdl &, 0 a8 SR 3P 1d B ol (9 & el 9gaR 9= &l g¥iu|

Options :
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Question Number : 15 Question Id : 5038907967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following figure, Rectangle represents bodygaurd, Traingle represents celebrity and circle represents student. Which set of numbers

represents Bodygaurds which are either student or celebrity?



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON

Google Play

Options :
1. % 4.5
2.¥ 1,4
3.%1,3,2
4. % 2.7,5

Question Number : 15 Question Id : 5038907967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frofaRed srefa o, smad STEhTE & gxiiar g, By Al &1 gxifdr § 3R g BT &1 gxfdT 81 3! &1 S I1 Tgg drens &I

i g S a1 dt o § T Aferfsdt 82
/N
3
5
1
.
[ 4

Options :
1. % 4.5
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2.¥ 1,4
3 #1302

4. %275

Question Number : 16 Question Id : 5038907968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If South-East becomes North, North-East becomes West and so on. What will West become?
Options :

1. ® North-East

2. ® North-West

3. ¥ South-East

4. ® South-West

Question Number : 16 Question Id : 5038907968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe <farorqd fa=m, SR &9 AT |, SR-gd o2, ufee a9 Sirdr 81 33 UhR ufdy fa=m ar grm?
Options :

1. % JWR-gd

2. % FWR-UEH

3. ¢ af&ugd

4. % GlEmruigm

Question Number : 17 Question Id : 5038907969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the figure that is different from rest.
Options :
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Question Number : 17 Question Id : 5038907969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

I 3BT BT I D Sl AY H 3T 8|

Options :

[
p—

>

2.¥



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247

Ui

[

GET IT ON

Google Play

Question Number : 18 Question Id : 5038907970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the number of triangles in the given figure.

Options :
1. % 10
2.v 12
3.% 11
4. % 14

Question Number : 18 Question Id : 5038907970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HREICIRERE CIEIRICGIRIREIIE LY
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Options :
1. % 10
2.¥ 12
3.% 11
4. % 14
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Question Number : 19 Question Id : 5038907971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the mirror image of the following when the mirror is placed at AB.

Question figure:

* \ﬂ
7N

B
Options :
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3. ®
*

4, %
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Question Number : 19 Question Id : 5038907971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

7S 31Tl BT U U F1d Y S GUUT AB TR @M T8I 1
TR TR

Options :
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*

2. %
‘-.y‘

3. ®
*

4, %

Question Number : 20 Question Id : 5038907972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

7 N

%

7

N
Options :

+ BN
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Question Number : 20 Question Id : 5038907972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIF-T IR AHA, T P & W Bl T BN

/ ~

(AR
NS

AN

Options :

e R
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890368
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5038907973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dollu Kunitha is a folk dance from which of the following states?
Options :

1. ¥ Karnataka

2. # Madhya Pradesh

3. # Sikkim

4. # Manipur

Question Number : 21 Question Id : 5038907973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S iy FAufoied # ¥ forg sy &1 dle 7 82

Options :

1. ¢ FAlcdH
2. % gHYY
3. % ffgen
4. % HOQR

Question Number : 22 Question Id : 5038907974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following temples of India is also known as "Black Pagoda"?
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Options :
1. * Meenakshi Temple, Madurai

2. # Jagannath Temple, Puri
3. % Sun Temple, Konark
4. ® Brihadeshwara Temple, Tanjore

Question Number : 22 Question Id : 5038907974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & FafeRad # 3 fog dfe 1 e TS & A8 J Hi ST Sirdl 82
Options :

1. % el dfeR, wigY

2. % SATATY e, ORI

3. ¥ QU HIGR, Biveh

4. % gEeAR AR, IR

Question Number : 23 Question Id : 5038907975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Hornbill Festival" is celebrated each year in which of the following States?
Options :

1. ¥ Nagaland

2. % Sikkim

3. # Tripura

4. % Arunachal Pradesh

Question Number : 23 Question Id : 5038907975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"o Held" T oy Fafafed 3 & forg v & 71 9T 82

Options :
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Question Number : 24 Question Id : 5038907976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On which of the following rates does the Reserve Bank of India purchases the other Commercial Papers and Rediscount Bills of exchange from
the Banks?

Options :

1. # Repo Rate

2. % Reverse Repo Rate
3. ¥ Bank Rate

4. % Interest Rate

Question Number : 24 Question Id : 5038907976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffed # @ fhg ok R YR Red S, o1 ¥ 3 a1iifode Uz 3R fafmg & qafdarur foed @diaar @2
Options :

1. % &R

2. % Rgd iR

3.V 9P R

4, % IV X

Question Number : 25 Question Id : 5038907977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the lower limit of RTGS transactions in India?
Options :

1. % 2 Lakhs
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. % 10 Lakhs

1I'J 1LANITOS

2
2 & 18T oLl
e
4

. % No Limit

Question Number : 25 Question Id : 5038907977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA H SRS T, A-e ST Foad S w1 g2
Options :

1. ¥ 2 A

2. % 10 G

3. % 150

4. % PV AT T8

Question Number : 26 Question Id : 5038907978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the hardest naturally occurring substance on Earth?
Options :

1. # Gold

2. % Tron

3. ¥ Diamond

4. ® Platinum

Question Number : 26 Question Id : 5038907978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeid o @ e gudt R Tipfae U U S are 9o do R uard g2
Options :
1. % T
2. % Qe
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3. ¢ BRI
4 % Tfean

Question Number : 27 Question Id : 5038907979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following is credited with the discovery of the nucleus of an atom?
Options :

1. # James Chadwick

2. % Niels Bohr

3. ¥ E. Rutherford

4. % J.J. Thomson

Question Number : 27 Question Id : 5038907979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o 9 ford wam & e ot @i &1 97 foar Srar g2
Options :

1. % Swg dSfad

2. % Hieq ag

3.V 5. XIS

4. % O S YTAGH

Question Number : 28 Question Id : 5038907980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The frigid zone is said to lie near
Options :

1. ¥ Poles

2. ®% Equator

3. ® Tropic of Cancer
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4. % Tropic of Capricorn

Question Number : 28 Question Id : 5038907980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
sfid wfesy & P TR A g
Options :

1.¥ 4@

2. % YO Al

3. % Beh Xl

4. % HHI Gl

Question Number : 29 Question Id : 5038907981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many longitudinal lines are there?
Options :

1. % 180

2. ¥ 360

3. % 45

4. % 90

Question Number : 29 Question Id : 5038907981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3c e T fhai Bicil 52

Options :

1. % 180

2. ¥ 360

3. % 45

4. % 90
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Question Number : 30 Question Id : S0B8907982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The monument Taj Mahal is built on the bank of which of the following rivers?
Options :

1. ¥ Yamuna River

2. # Ganga River

3. # Narmada River

4. % Brahmaputra River

Question Number : 30 Question Id : 5038907982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AIoHEd VRS e H ¥ frg e & de R a1 82
Options :

1. ¥ GEAT G

2. % TG

3. % THGT A

4. % SEIYA AId

Question Number : 31 Question Id : 5038907983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following rulers sent Greek Diplomat Megasthenes to India?
Options :

1. ® Alexander

2. ¥ Seleucus |

3. # Menander I

4. % Demeterius

Question Number : 31 Question Id : 5038907983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : (.25

fafeRad o 9 forg I A A oS BRI & YR HSTr?

Options :

2:#‘@%1
3. % &R
4. % SHCRTY

Question Number : 32 Question Id : 5038907984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the first ever Chief Justice of India?
Options :

1. ¥ D Misra

2. ® TS Thakur

3. % HL Dattu

4. ¥ HJ Kania

Question Number : 32 Question Id : 5038907984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafifed & @ ®F YRd & Ugd Jeg <raneher 49
Options :

1. % St foen

2. % E1TY. B1PR

3. ® Td. Ud. 1],

4. IS, Bi-T

Question Number : 33 Question Id : 5038907985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Which article of the Indian Constitution enshrines the procedure for impeachment of the President of India?

Options :
1. # 66
2. %59
3.¥ 61
4. % 64

Question Number : 33 Question Id : 5038907985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR T BT DI AT SiFsa HRd & JPUFd TR FRTHRINT I 1 Uiehdl 1 WY BT 672
Options :

1. % 66

2. % 59

3. ¥ 61

4. % 64

Question Number : 34 Question Id : 5038907986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The executive power of states in India is vested in which of the following posts?
Options :

1. # Chief Minister

2. # Prime Minister

3. ¥ Governor

4. ® President

Question Number : 34 Question Id : 5038907986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA H T F pGR] Widd Fafead 7 3 feg ue # fAfga g2
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Options :
| % TRewal

2. % Y T
3.« ogUTd
4. % eCUfd

Question Number : 35 Question Id : 5038907987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following movies received the award for "Best Feature Film" at 67th National Film Awards?
Options :

1. ¥ Marakkar: Lion of the Arabian Sea

2. # The Tashkent Files

3. % Bahattar Hoorain

4. ® Vijay Sethupathi

Question Number : 35 Question Id : 5038907987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 3 fod fler 1 67d TP fthed REBRT H A9 BIeR e 1 GRIBR e
Options :

1. ¥ TRIGHR: A5 30 & SRfeg

2. % g dARIDE BIgcH

3. % e ER

4. % faorg Agufa

Question Number : 36 Question Id : 5038907988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following has written the novel "The Inheritance of Loss"?
Options :
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1. #® Arundhati Roy
2% Vikram Seth

3. # Aravind Adiga
4. ¥ Kiran Desai

Question Number : 36 Question Id : 5038907988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A # 9§ foa Iu=amd g 36 3 e foran &
Options :

1. % Yfd g

2. % fapH IS

3. % 3Rfdq efem

4. fprur Sarg

Question Number : 37 Question Id : 5038907989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Indian weightlifter has created a new world record in Clean and Jerk event by lifting 119 kg at the Asian Weightlifting Championships?
Options :

1. ¥ Karnam Malleswari

2. % Kunjarani Devi

3. # Neelam Setti Laxmi

4. ¥ Mirabai Chanu

Question Number : 37 Question Id : 5038907989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g YR HRRA® = TR YRR SR & 119 fHur 4R ot o U wie @yl 7 a1 fay Reis saman g2
Options :

1. % HUfH Aoy
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2. % BRI ¢l

3 % flgn adt gerf}

4. ¢ HRTSTS =T

Question Number : 38 Question Id : 5038907990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the first player to hit 350 sixes in the Indian Premier League (IPL)?
Options :

1. # Rohit Sharma

2. ® Virat Kohli

3. ¥ Chris Gayle

4. % AB De Villiers

Question Number : 38 Question Id : 5038907990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3feTm iR <t (emgdiea) # 350 3% T aTd Ugd Raarst &1 g2
Options :

1. % fgd =i

2. # faRTe FHigeh

3. ¢ fopg Tid

4. % wet fefaferad

Question Number : 39 Question Id : 5038907991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Union Territory has been declared Tuberculosis Free?
Options :

1. # Andaman and Nicobar Islands

2. ¥ Daman and Diu
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3. % Ladakh
4 % | nkchqﬂ\mPPp

Question Number : 39 Question Id : 5038907991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg g TMRIT U BT &7 I (TB) Had TN fopam T B2
Options :

1. % 3SHM d AIHIER g1d I8

2. % HA 3R dl9

3. % TErd

4. ¢ AergIa

Question Number : 40 Question Id : 5038907992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which State appointed Sonu Sood as the Brand Ambassador for its COVID vaccination programme?
Options :

1. ¥ Maharashtra

2. ¥ Punjab

3. % Haryana

4. % Gujarat

Question Number : 40 Question Id : 5038907992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foh XTST 307 COVID TIHIHRUl HIAHH & [oT A g B! e Tawex Hygad fdhar
Options :

1. % HERIY

2. ¢ Uuld

3. ® giamm
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Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

3
503890184

Arithmetic Ability

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :
Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

503890308
1

Online
Mandatory
20

20

20

Yes

1
503890369
Yes

GET IT ON

Google Play

Question Number : 41 Question Id : 5038907993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What will come in the place of question mark (?) in the given expression?
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Question Number : 41 Question Id : 5038907993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fou T ool H Uy g (2) o R IR 37 ST
1560 & (256 + +/576) Siderd =2

Options :
1. ¥ 624
2. % 636
3. % 618
4. % 664

Question Number : 42 Question Id : 5038907994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What will come in the place of question mark (?) in the given expression?

—of V49 =2 of {1331

T

Options :
1. % 40
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2. % 42
3 w44

4. % 47

Question Number : 42 Question Id : 5038907994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feu U o § Uy g (2) & RIF IR T ST

]

L

—

VA9 FT — = 1331 FI

- |

Options :
1. % 40
2. % 42
3.¥ 44
4. % 47

Question Number : 43 Question Id : 5038907995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If px® -7x? +4x -28 is divided by x-7. then remainder is zero. What is the value of p?

Options :
1. % 1
2.v 1
3. %2
4. % 0

Question Number : 43 Question Id : 5038907995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25

FiEp—Fx 428 x=7 I TasHola TohalT ST &, af AW = 9Tcd &Il &1 p ol
HIeT T B2

Options :
1. % 1
2.¢ 1
3. %2
4. % 0

Question Number : 44 Question Id : 5038907996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The greatest number that divides 860 and 1045 leaving remainders 10 and 25 respectively is:
Options :

1.¥ 170

2. % 185

3. % 190

4. % 165

Question Number : 44 Question Id : 5038907996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 91 T TSI TBAT J1d IO, oI 860 3R 1045 DI HFT B TR ANHA HHTT: 10 3R 25 I ©
Options :
1. ¢ 170
2. % 185
3. % 190
4. % 165

Question Number : 45 Question Id : 5038907997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : (.25

Find the smallest fraction of the following fractions?
Options :
5

1. # &

23

2‘&?3?

51

43

GET IT ON

Google Play

Question Number : 45 Question Id : 5038907997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fraferiRad i & 9 Tl B¢ el T1d B

Options :
5

1. # &

23

2‘&?3?

51
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4 54
.

Question Number : 46 Question Id : 5038907998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average weight of 39 students of a class is increased by 0.9 kg when weight of a teacher is added. If weight of teacher is 84 kg, then what is the
average weight of students?

Options :

1. ® 52 kg
2. ¥ 48 kg
3. % 44 kg
4. ® 49 kg

Question Number : 46 Question Id : 5038907998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Bl & 39 faanfial o1 3Nd oo U e & aoi &1 e B 0.9 fhaium s Sidn § afe e &1 o 84 fbamma g, at
faenffal &1 efierd WR foba 82

Options :

1. % 52 fopatom

2. ¢ 48 fhaum™

3. % 44 fhawm™

4. % 49 fHarmA

Question Number : 47 Question Id : 5038907999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the numerator of a fraction is increased by 25 percent, and the denominator is
decreased by 50 percent. then the fraction obtained is — What is the original fraction?
o3
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Options :

12

2\‘.-"’? 25

GET IT ON

Google Play

Question Number : 47 Question Id : 5038907999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

e Taeet & 37 T 25 9iaed & Fe/T Sdm &, A gL & 50 Jiaed & &5 fomar
ST &, at et fieet = 1 arearfaes e a7 g

Options :
12
% 25

2\‘_’,.-‘? 25

16
3 W 25
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4 % 25

Question Number : 48 Question Id : 5038908000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two students A and B appeared at an examination. If one of them secured 9 marks more than the other and his marks were 56 percent of sum of
their marks. Find the sum of marks obtained by them?

Options :
1. ¥ 75
2. % 77
3. % 73
4. % 69

Question Number : 48 Question Id : 5038908000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP UIeT T &I BT A 3R B 964 ¢ 1 IS 3718 I Th = gaik ¥ 9 3 T U fohT 3R S 3idh I-1h 3idh| &b AT T 56 Tfa=ra Tl
3% GRT UTW 3! &1 TNT T BRI

Options :

1.¥ 75

2. % 77

3. % 73

4. % 69

Question Number : 49 Question Id : 5038908001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The price of sugar is reduced by 20 percent. Now a person can buy 500 gm more sugar for Rs. 36. The original price of the sugar per kilogram
was.

Options :
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1. ¥ Rs.14.40
2 % Rg 18

3. # Rs.15.60
4. % Rs.16.50

Question Number : 49 Question Id : 5038908001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

mﬁmzommanﬁ%mwwﬁd 36 TUA | 500 T 1% - Wig Tobdl 7, 1 Ui framd =i &t Jd Hid
)

Options :

1. % 14.40 97

2. ¥ 180T

3. % 1560 0

4. % 16.50 0

Question Number : 50 Question Id : 5038908002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B together started a business with initial investments of Rs. 1,200 and Rs. 1,500, respectively. After six months, A invested an additional
investment equal to half his initial investment and B withdrew 20 percent of his initial investment. Find the profit share of A out of the total profit
of Rs. 7,980 after one year.

Options :

1. # Rs. 4000
2. % Rs. 4680
3. ¥ Rs. 4200
4. % Rs. 4480

Question Number : 50 Question Id : 5038908002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B HHT: 1200 ST 3R 1500 TUY & RP AW & Y HRITR TE Hd &1 T He M 91, A 3T 3R o ot smeft i
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%&W@QW%@TB 3T SRIHE 3= &7 20 TIRId HRITR ¥ FHTed 81 T aF ale| ot arH 7980 ST H H A & AT B
Nik) 9

Options :

1. % 4000 ¥0Y
2. % 4680 TYY
3. ¢ 4200 39T
4. % 4480 307

Question Number : 51 Question Id : 5038908003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ratio of age of P after 3 years and age of Q before 3 years is 3 : 2 respectively. If sum of their present ages is 45 years, then what is the half of
age of P after 12 years?

Options :

1. % 24 years
2. ¥ 18 years
3. # 21 years
4. % 15 years

Question Number : 51 Question Id : 5038908003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

394 & 91G P P TG 31R 3 a4 I UG Q DI 31T BT U SHH: 3 : 2 § | (G 3! acHT AT HI AN 45 T8 §, Al 12 T & §1G P Pi 3G
&1 31T a1 g2

Options :

1. % 2494
2. ¢ 18 T4
3. %2199
4. % 1534

Question Number : 52 Question Id : 5038908004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Roli lent certain sum of money at 4 percent simple interest to Seema and in 8§ years the interest amou

the sum lent by Roli to Seema?
Options :

1. # Rs.4800

2. % Rs.5400

3. % Rs.6000

4. ¥ Rs.5000

Question Number : 52 Question Id : 5038908004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3elt = W1 B T AT Y=RIfRT 4 UiI<d TURY 9919 1 8% TR IUR <1 3R 8 I8 J1e HfSTd It SYR & 78 YRR 3400 TUU HH §
1 elt = AT B fhd-t 4RI SYR €

Options :

1. % 4800 YU
2. % 5400 T0Y
3. % 6000 &0
4. ¥ 5000 =T

Question Number : 53 Question Id : 5038908005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boat rows 20 km upstream and 15 km downstream in 10 hrs. If the speed of the boat is twice that of the current, then in how much time will the
boat row 10 km downstream (in hrs)?

Options :
1.¥1.33
2. % 1.66
3. % 1.48
4. % 192

Question Number : 53 Question Id : 5038908005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : (.25

Teh 19 YRT & Ufdpet fe=m H 20 {6 1t iR uR1 & 3rga fexn & 15 fb.1f. B gt 10 & & T et 81 afe T Y ifg e Y ifqy ar
QT &, 1 A1Td URT & 3@ d = H 10 f. 1. &1 gl 00 & | fova1 90 (8ie /) il

Options :

1. ¥ 1.33

2. % 1.66

3. % 1.48

4. % 1.92

Question Number : 54 Question Id : 5038908006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mr. X drives to work at an average speed of 48 km/hr. The time taken to cover the first 60 percent of the distance is 10 min more than the time
taken to covers the remaining distance. How far is his office?

Options :

1. ®¥ 30 km
2. ¥ 40 km
3. % 50 km
4. % 60 km

Question Number : 54 Question Id : 5038908006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mr. X, 48 forHt / €T Bt 3fIId 91et o HTafad SiTd & | U8 60 UIRId D1 gLl o0 @3- H T aTel 90 Y g3l a9 HR- § oA ard 90
10 e 31fie g | IUHT Hraferd fard=T R 82

Options :

1. % 30 ol
2. ¢ 40 il
3. % 50 foul
4. % 60 foprit
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Question Number : 55 Question Id : 50838908007 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amit alone can do a piece of work in 6 days. Bunty can do the same piece of work in 14 days. If Amit and Bunty completed the work in 4 days
with the help of Chitra, and they were paid Rs. 1470 for completing the work, how much was received by Chitra?

Options :

1. ¥ Rs.70
2. % Rs.80
3. % Rs.120
4. ® Rs.60

Question Number : 55 Question Id : 5038908007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3P HTH HTH BT T 8T T B H 6 &7 a1 g1 §<t 8t 10 o1 U TR b H 14 e aman g1 afe sifig eir &, fomm,
®1 Hag U 4 fa H S & R HRd § 3R 3 HIH B I B W 1470 $UU &€ T dF fomn A fore g ured fde

Options :

1. ¥ 70 >Uq
2. % 80 >Uq
3. % 120®UU
4. % 60%UQ

Question Number : 56 Question Id : 5038908008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between the circumference and the radius of a circle is 37 cm. Find the area of the circle?
Options :

1. # 144 sq cm

2. % 216 sqcm

3. ¥ 154 sq cm

4. % 224 sqcm
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Question Number : 56 Question Id : 5088908008 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP g B uRfY aut g &1 3iaR 37 Tt 8 1 99 T &% 1d B
Options :

1. % 144 37 At

2. % 216 97 Y

3. ¢ 154 a7 QT

4. % 224 97 QAT

Question Number : 57 Question Id : 5038908009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A room is 12 m long, 10 m broad and 8 m high. Its floor is covered with square tiles of 20 cm. The number of tiles required to cover the floor is.
Options :

1. % 4000

2. ¥ 3000

3. % 2000

4. % 6000

Question Number : 57 Question Id : 5038908009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UH BT 12 Hiex dal, 10 Hiex ST 3R 8 Hiek 31 8 | 5ThT i 20 T B} ITBR eT5d & 1Y R fordr 31 R Bl Rk B & forw
I TSl Bt T §

Options :

1. % 4000

2. ¥ 3000

3. % 2000

4. % 6000

Question Number : 58 Question Id : 5038908010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : (.25

The given table shows data regarding the number of children who were given Polio drops and total number of children in different villages.

Village Total children Number of children who were given Polio
drops
A 254 192
B 184 148
C 156 124
D 272 240
E 324 216

Find the average number of children who were not given Polio drops from villages A, C, and D taken together.
Options :

1. % 36

2.9 42

3. % 48

4. % 54

Question Number : 58 Question Id : 5038908010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feam o eue 3 Tl Y e & aR | Sl fearan | fore tiferal sal faar mar g 3R faft idt & gt ) T f S ot

T Fd T T =g 9fedt §1 97 § =i
A 254 192
B 184 148
C 156 124
D 272 240
E 324 216

T A, C, 3R D & 3 S| DI 371Gd =T J1d B o1 Tiferdl g9 =161 faan man g2
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Options :
1. % 36

2. ¥ 42
3. % 48
4. % 54

Question Number : 59 Question Id : 5038908011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given table shows data regarding the number of children who were given Polio drops and total number of children in different villages.

Village Total children Number of children who were given Polio
drops
A 254 192
B 184 148
C 156 124
D 272 240
E 324 216

The ratio of boys and girls in village D is 5 : 3 respectively, and ratio of boys and girls to whom Polio drops were not given in village D is 3 : 1
respectively. Find the ratio of number of boys to the number of girls who were given Polio drops in village D.

Options :

1. % 37:21
2. %43:32
3. % 57:36
4. ¥ 73 :47

Question Number : 59 Question Id : 5038908011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& T T9d 3 Sl 1 Wel & AR H Sl feardr § forg diferdt et oo man § ok fafta il & s &t g T < s AR
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LIS FTH T Ted Sieg Ofera Fr 95 § =
A 254 192
B 184 148
C 156 124
D 272 240
E 324 216

i D & TS 3R TSIl BT UM HHRE: 5 : 3 7, AR Tld D H o7 UIferd) S1U 781 a1 1 8 39 ASh IR TS(hal BT SIUTd HH: 3
L 18| D & 37 TSP 3R AS(hal DI TAT T U T B< folg Tiferar g1a fa mar g2

Options :

1. % 37:21

2. % 43:32

3. % 57:36

4.9 73:47

Question Number : 60 Question Id : 5038908012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following line graph represents percent profit earned by two companies over five years
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In the year 2017, incomes of Company P and Company Q are same. Find the respective ratio of the expenditure of Company P in 2017 and
expenditure of Company Q in 2017.

Options :

1. % 25:24
2. % 25:26
3.9 26:25
4. % 24 :25

Question Number : 60 Question Id : 5038908012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 25:24
2. % 25:26
3.9 26:25
4. % 24:25

General English
Group Number : 4
Group Id : 503890185
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Group Marks : 20
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General English
Section Id : 503890309
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890370
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5038908013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.

Options :

1. # Kenyans has no problem cooperating with the government to stop the spread of Covid-19.
2. # Scientists have been given all the money it need to buy midnight oil to pour on this virus.
3. % We will do anything the government asks us to because we trust what they were doing.

4. ¥ We can only hope that the economy shall resurrect after this moment of gloom is over.

Question Number : 61 Question Id : 5038908013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.

Options :

1. # Kenyans has no problem cooperating with the government to stop the spread of Covid-19.
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2. % Scientists have been given all the mpney it need to buy midnight oil to pour on this virus.

3% We will do anything the government asks us to because we trust what they were doing.

4. ¥ We can only hope that the economy shall resurrect after this moment of gloom is over.

Question Number : 62 Question Id : 5038908014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the segment in the sentence which contains the grammatical error from the given options. If there is no grammatical error/errors, then
select option No error.

The only good thing about these pens are their colour.
Options :

1. # The only good thing

2. % about these pens

3. ¥ are their colour

4. % No error

Question Number : 62 Question Id : 5038908014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the segment in the sentence which contains the grammatical error from the given options. If there is no grammatical error/errors, then
select option No error.

The only good thing about these pens are their colour.
Options :

1. #® The only good thing

2. % about these pens

3. ¥ are their colour

4. ® No error

Question Number : 63 Question Id : 5038908015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Select the most appropriate option to subgtitute the underlined segment in the given sentence. If there |s no need to substitute it, select No
substitution required.

India is more populated than any other country except Russia.
Options :

1. # than other, except

2. ® than any other, accept

3. # then any, except

4. ¥ No substitution required

Question Number : 63 Question Id : 5038908015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

India is more populated than any other country except Russia.
Options :

1. # than other, except

2. # than any other, accept

3. % then any, except

4. ¥ No substitution required

Question Number : 64 Question Id : 5038908016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

At the party, he addressed people as if he is the chief guest.

Options :

1. ¥ he were the
2. % he was the
3. # he be the
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4. % No substitution required

Question Number : 64 Question Id : 5038908016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

At the party, he addressed people as if he is the chief guest.
Options :

1. ¥ he were the

2. % he was the

3. % he be the

4. % No substitution required

Question Number : 65 Question Id : 5038908017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

As dawn was beginning to show , the horse stopped and refused to walk any further.
Options :

1. ® himself

2. ¥ itself

3. # herself

4. ® oneself

Question Number : 65 Question Id : 5038908017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

As dawn was beginning to show , the horse stopped and refused to walk any further.
Options :
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# himself

1£

il -y
= 1IWLIlL

% herself

% oneself

oL =

Question Number : 66 Question Id : 5038908018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The pandemic has taught us that we can be productive without in office from Monday to Friday.
Options :

1. ® been

2. % their

3. ¥ being

4. ® there

Question Number : 66 Question Id : 5038908018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The pandemic has taught us that we can be productive without in office from Monday to Friday.
Options :

1. ® been

2. ® their

3. ¥ being

4. % there

Question Number : 67 Question Id : 5038908019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.
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A. Most couples come to the orphanage lpoking for a young child below five years of age.

B. It was Peter's last chance.
C. The folks who had come to adopt him were willing to adopt him even though he was 10 years old.
D. If he did not go, he might never be able to leave the orphanage.

Options :

1. ¥ ABDC
2. ¥ CBAD
3. ¥ BDCA
4. ¥ DBCA

Question Number : 67 Question Id : 5038908019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

A. Most couples come to the orphanage looking for a young child below five years of age.

B. It was Peter's last chance.

C. The folks who had come to adopt him were willing to adopt him even though he was 10 years old.
D. If he did not go, he might never be able to leave the orphanage.

Options :

1. ¥ ABDC
2. ¥ CBAD
3. ¥ BDCA
4. ¥ DBCA

Question Number : 68 Question Id : 5038908020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, rearrange the sentences in the correct order, and choose the correct option. The first and sixth (last) statements are
given in the right sequence and are fixed.

1. The motor car is one of the useful gifts of modern science.
P: One of these is the smoke and pollution that it creates.
Q: It has made short and medium distance journeys fast and comfortable.
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R: The other is that it has made journey by road hazardous.
S: Yet we can't say that a motor car is a blessing without disadvantages.

6. Finally 1n this age of energy crisis a personal car is an expensive thing.
Options :

1. # PQRS

2. ¥ QSPR

3. % RSPQ

4. % SPQR

Question Number : 68 Question Id : 5038908020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, rearrange the sentences in the correct order, and choose the correct option. The first and sixth (last) statements are
given in the right sequence and are fixed.

1. The motor car is one of the useful gifts of modern science.

P: One of these is the smoke and pollution that it creates.

Q: It has made short and medium distance journeys fast and comfortable.
R: The other is that it has made journey by road hazardous.

S: Yet we can't say that a motor car is a blessing without disadvantages.
6. Finally in this age of energy crisis a personal car is an expensive thing.

Options :

1. ¥ PQRS
2. ¥ QSPR
3. % RSPQ
4. ® SPQR

Question Number : 69 Question Id : 5038908021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

EXODUS
Options :

1. ¥ Evacuation
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2. % Advocate

2

LA . 4
J. Jlauiviit

4. # Slope

Question Number : 69 Question Id : 5038908021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

EXODUS
Options :

1. ¥ Evacuation
2. % Advocate
3. # Gradient
4. ® Slope

Question Number : 70 Question Id : 5038908022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

TRANQUIL
Options :

1. #® Serene
2. # Haclyon
3. ¥ Excitable
4. ® Stoical

Question Number : 70 Question Id : 5038908022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.
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TRANQUIL
Options :

1. # Serene
2. % Haclyon
3. ¥ Excitable
4. ® Stoical

Question Number : 71 Question Id : 5038908023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. #® hetreogeneity

2. ¥ heterogeneity

3. # heterogeniety

4. ® heterogineity

Question Number : 71 Question Id : 5038908023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. #® hetreogeneity

2. ¥ heterogeneity

3. # heterogeniety

4. ® heterogineity

Question Number : 72 Question Id : 5038908024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.
Options :
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1. ¥ Curiousity

2% Qnportunity
rr

3. % QOpposition
4. ®% QObstacle

Question Number : 72 Question Id : 5038908024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

1. ¥ Curiousity

2. ® Opportunity

3. ® QOpposition

4. ® Obstacle

Question Number : 73 Question Id : 5038908025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Go on a wild goose chase

Options :

1. ® T'll get you back for what you did

2. ¥ A foolish search for something that cannot be achieved
3. # To accidentally reveal a secret

4. ® Hear news of something secret

Question Number : 73 Question Id : 5038908025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Go on a wild goose chase
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Options :
1. #* Tl get vou back for what you did

2. ¥ A foolish search for something that cannot be achieved
3. # To accidentally reveal a secret

4. ® Hear news of something secret

Question Number : 74 Question Id : 5038908026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

To hit below the belt
Options :

1. # To punish

2. % To tie with a belt
3. # To hit with a belt
4. ¥ To attack unfairly

Question Number : 74 Question Id : 5038908026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

To hit below the belt
Options :

1. #® To punish

2. % To tie with a belt
3. # To hit with a belt
4. ¥ To attack unfairly

Question Number : 75 Question Id : 5038908027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Select the word which means the same as|the group of words given.

One who knows everything
Options :

1. ¥ Omniscient

2. % Omnipresent

3. % Omnipotent

4. % Gullible

Question Number : 75 Question Id : 5038908027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

One who knows everything
Options :

1. ¥ Omniscient

2. % Omnipresent

3. ¥ Omnipotent

4. ® Gullible

Sub-Section Number : 2
Sub-Section Id : 503890371
Question Shuffling Allowed : Yes

Question Id : 5038908028 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

From the late eighteenth century the Company also sought to curb and eventually destroy Maratha power. With their defeat in the Third Battle of
Panipat in 1761, the Marathas’ dream of ruling from Delhi was shattered.

They were divided into many states under different chiefs (sardars) belonging to dynasties such as Sindhia, Holkar, Gaikwad and Bhonsle. These
chiefs were held together in a confederacy under a Peshwa (Principal Minister) who became its effective military and administrative head based
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in Pune. Mahadji Sindhia and Nana Phadfis were two famous Maratha soldiers and statesmen of the late eighteenth century.

The Marathas were subdued in a series of wars. In the first war that ended in 1782 with the Treaty of Salbai, there was no clear victor. The
Second Anglo-Maratha War (1803-05) was fought on different fronts, resulting in the British gaining Orissa and the territories north of the
Yamuna river including Agra and Delhi. Finally, the Third Anglo-Maratha War of 1817-19 crushed Maratha power. The Peshwa was removed
and sent away to Bithur near Kanpur with a pension. The Company now had complete control over the territories south of the Vindhyas.

It is clear from the above that from the early nineteenth century the Company pursued an aggressive policy of territorial expansion. Under Lord
Hastings (Governor- General from 1813 to 1823) a new policy of “paramountcy” was initiated. Now the Company claimed that its authority was
paramount or supreme, hence its power was greater than that of Indian states. In order to protect its interests it was justified in annexing or
threatening to annex any Indian kingdom. This view continued to guide later British policies as well. This process, however, did not go
unchallenged.

Sub questions

Question Number : 76 Question Id : 5038908029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, the first Anglo-Maratha War ended with the treaty of Salbai, in the year-
Options :

1. ¥ 1803

2. % 1817

3.9 1782

4. % 1761

Question Number : 77 Question Id : 5038908030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After which of following, Marathas’ dream of ruling from Delhi was shattered?
Options :

1. #® Second Anglo-Maratha War

2. ¥ Third battle of Panipat

3. # First Anglo-Marath War

4. ® Third Anglo-Maratha War

Question Number : 78 Question Id : 5038908031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

How was the Peshwa treated after the Third Anglo-Maratha War?

Options :

1. # The Peshwa was captured and sent for life time imprisonment in Bithur jail

2. # The Peshwa was allowed to rule his territory after paying for the loss incurred
3. % The Peshwa was reinstated at the administrative head of Maratha empire

4. ¥ The Peshwa was removed and sent away to Bithur near Kanpur with a pension

Question Number : 79 Question Id : 5038908032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Shattered”?
Options :

1. # smashed

2. ¥ patched

3. % broken

4. ® destroyed

Question Number : 80 Question Id : 5038908033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?

Options :

1. ® The Maratha Empire was divided in different dynasties such as Sindhia, Holkar, Gaikwad and Bhonsle.
2. ¥ The Second Anglo-Maratha War of 1817-19 crushed Maratha power.

3. # A new policy of “paramountcy” was initiated by then Governor General Lord Hastings.

4. ® This view (annexing or threatening to annex any Indian kingdom) continued to guide later British policies as well.

Question Id : 5038908028 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.
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From the late eighteenth century the Company also sought to curb and eventually destroy Maratha poyer. With their defeat in the Third Battle of

Panipat in 1761, the Marathas’ dream of ruling from Delhi was shattered.

They were divided into many states under different chiefs (sardars) belonging to dynasties such as Sindhia, Holkar, Gaikwad and Bhonsle. These
chiefs were held together in a confederacy under a Peshwa (Principal Minister) who became its effective military and administrative head based
in Pune. Mahadji Sindhia and Nana Phadnis were two famous Maratha soldiers and statesmen of the late eighteenth century.

The Marathas were subdued in a series of wars. In the first war that ended in 1782 with the Treaty of Salbai, there was no clear victor. The
Second Anglo-Maratha War (1803-05) was fought on different fronts, resulting in the British gaining Orissa and the territories north of the
Yamuna river including Agra and Delhi. Finally, the Third Anglo-Maratha War of 1817-19 crushed Maratha power. The Peshwa was removed
and sent away to Bithur near Kanpur with a pension. The Company now had complete control over the territories south of the Vindhyas.

It is clear from the above that from the early nineteenth century the Company pursued an aggressive policy of territorial expansion. Under Lord
Hastings (Governor- General from 1813 to 1823) a new policy of “paramountcy” was initiated. Now the Company claimed that its authority was
paramount or supreme, hence its power was greater than that of Indian states. In order to protect its interests it was justified in annexing or
threatening to annex any Indian kingdom. This view continued to guide later British policies as well. This process, however, did not go
unchallenged.

Sub questions

Question Number : 76 Question Id : 5038908029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, the first Anglo-Maratha War ended with the treaty of Salbai, in the year-
Options :

1. # 1803

2. % 1817

3.9 1782

4. % 1761

Question Number : 77 Question Id : 5038908030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After which of following, Marathas’ dream of ruling from Delhi was shattered?
Options :

1. ® Second Anglo-Maratha War
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2. ¥ Third battle of Panipat
3 % First Ang]n-Mm‘qfh War

4. % Third Anglo-Maratha War

Question Number : 78 Question Id : 5038908031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How was the Peshwa treated after the Third Anglo-Maratha War?

Options :

1. # The Peshwa was captured and sent for life time imprisonment in Bithur jail

2. % The Peshwa was allowed to rule his territory after paying for the loss incurred
3. # The Peshwa was reinstated at the administrative head of Maratha empire

4. ¥ The Peshwa was removed and sent away to Bithur near Kanpur with a pension

Question Number : 79 Question Id : 5038908032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Shattered”?
Options :

1. # smashed

2. ¥ patched

3. % broken

4. ® destroyed

Question Number : 80 Question Id : 5038908033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?

Options :

1. # The Maratha Empire was divided in different dynasties such as Sindhia, Holkar, Gaikwad and Bhonsle.
2. ¥ The Second Anglo-Maratha War of 1817-19 crushed Maratha power.

3. # A new policy of “paramountcy” was initiated by then Governor General Lord Hastings.

4. ® This view (annexing or threatening to annex any Indian kingdom) continued to guide later British policies as well.
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Question Number : 81 Question Id : 5038908034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frAfafea & @ St ast A o9 gAg 72

Options :
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1. ® dY=Y J4™

YA i ksies:
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Question Number : 81 Question Id : 5038908034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAfafea & @ St ust # oH-91 g g 82
Options :

1. ® =Y J9™

2.« 3[YIHTT FHTY

3. % g 9A™

4. % fg 9ur™y

Question Number : 82 Question Id : 5038908035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fArfeIRad 4 @ dhad Usg &1 99 DIfSTL-
Options :

1. % MYy

2. % B

3. ¥ QR

4. % 3Udr™g

Question Number : 82 Question Id : 5038908035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAferiad # ¥ Tagd Teg &1 994 PifoTL-

Options :

1. % MYy
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2. % B

3_of OT

&S T

4, ® IUdg

Question Number : 83 Question Id : 5038908036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT & 9 1H-91 SIaaras Jausiyd 3o ol 67
Options :

1. ¢ 3R

2. % Ugd

3. % URIId

4. % diq

Question Number : 83 Question Id : 5038908036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARG & @ S -1 SIoaras deeaied 3 Tal 67
Options :

1. ¢ 3R

2. % Ugd

3. ® UAId

4. % 9l

Question Number : 84 Question Id : 5038908037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frefeiRad § & fa=sy &1 =g -
Options :

1. % 3SADIND

2. % 3fHIGd


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

3. « 3ffol
4% IR

Question Number : 84 Question Id : 5038908037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rrefad 4 @ fade o1 e -
Options :

1. % 3fiBIRD

2. % 3fHIGd

3. ¢ 3o

4. % 3IDHIUNY

Question Number : 85 Question Id : 5038908038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffeRad 7 ¥ "rRad” &1 TiuaT ¥se HIH-97 82
Options :

1. % 3Ryt

2. v R

3. % UIHTR

4. % {RIAME

Question Number : 85 Question Id : 5038908038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfeiRad & 9 reRadr &1 yaigaT e HIH-91 72
Options :

1. % STl

2. ¢ Rl

3. ¥ UIHTR
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4, ® 9RAE

Question Number : 86 Question Id : 5038908039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=eRad & O 1[G ad- aTel Xea BT I BHifoTd-
Options :

1. % geETgA

2. % gRivE

Question Number : 86 Question Id : 5038908039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRed o ¥ 3RS adH aTal Ueg &1 T BIfor-
Options :

1. % g

2. % gRivE

3. % obrieufd

4. ¥ TEWdH

Question Number : 87 Question Id : 5038908040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frfifee & & »offie &1 e wreg B-a1 &2
Options :

1. ¢ MG

2. % 3R

3. % qadl

4. % 3fit1a
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Question Number : 87 Question Id : S0B8908040 Question Type : MCQ Option Shuffling : Yes IS Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

e & @ rsifea o1 faam wee HH-a1e?
Options :

1. ¢ 3AIfe

2. % M

3. % gqdl

4. % 3

Question Number : 88 Question Id : 5038908041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfaRad o § wree-gm & T8 3rf-2g &1 997 BIfore-
PdT - HAdT

Options :

1. % ORAR - 3ay

2. % W gl - 3fRIK
3. % foved - Iaf

4. ¢ URAR - TR

Question Number : 88 Question Id : 5038908041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR o ¥ Xe5-g™ & Tal 37-1g &1 99 BifoTe-

PpdTl - pAdl

Options :

1. % UROR - 339

2. % g9 gl - 3fRfda
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Question Number : 89 Question Id : 5038908042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu e fawedl & @ 3 fawed &1 997 Pifv-
T3 1 98 T 0 R bl fbar & e 1 sty 8, 39 HRP Hed g

Options :

1. ¥ RO HRD

2. % JYDHV HRB
3. % HIGH HRD
4. % JGIYT RSB

Question Number : 89 Question Id : 5038908042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feu e faweal 7 9 Ifd fadwed &1 997 PifvTe-

T 1 98 =0 e bl fobar & e w1 ety 8, 39 HRP Hed g

Options :

1. ¥ DI HRD

2. % 3HfYHIV HRD
3. #% JUIGH dRD
4. % HYT HRb

Question Number : 90 Question Id : 5038908043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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feTfeTRad & U 315 aTeI 1 I DITHIT-

Options :

1. % 39 HI R f5Y Ares H1 AfNTg gare 82
2. % 3P ¥ 8, =B S & e S ¢
3. ¢ M & b 3mum TN Mg W e =78 e
4. % g el 81 HETHR DT HRU &1 |

Question Number : 90 Question Id : 5038908043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=R O ¥ 3R dTe &1 T BIfoE-
Options :

1. % 3909 R 59 Aesd &1 319 g1aara g2
2. % 3P g 8, e S & ferg s ¢ &Y
3. ¢ T g o Smum R Fde iR e T8 |
4. % T dIch ol HETHRT BT HRUT I |

Question Number : 91 Question Id : 5038908044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
el 7 Q S19-91 919 MFTaTEe a1 892
Options :

1. % 319 Sita= T IHd B

2. % S Ogd B dl Ghadl G|

3. % g T HER B I 6l gDl g
4.« TR U U R g8 e 13|

Question Number : 91 Question Id : 5038908044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fREffed § 9 $1H-91 a1 SRTaTEe a1 82
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Options :
1% 31U Silad 8 Ifd B3 |

2. % S Ug-Id B 91 o ddl U |

3. % gAd &1 HICX BN IR 81 bl g1
4.+ TR {10 U el Y ioh 3173l

Question Number : 92 Question Id : 5038908045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfifad § @ SH-91 9Ty HIgar=d &1 IS0 1) 82
Options :

1. % g TR H 967 g ol

2. T St A IHS-YUR & 1T o1 e =181 faba |
3. % gToft & GRT HEH! AT ol g

4. % IY SIRT Y 41 Hi 781 S|

Question Number : 92 Question Id : 5038908045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfoiad # @ ©19-31 91eg HIadr=d &1 38R0l Tal 82
Options :

1. % TR R H 987 Te1 o

2.  WTE! Sl A JHS-YUR o 0 R $S el fbar|

3. % QIO & GRI Bl YATs Silci o

4. % 3IY dART Y RAT H T e

Question Number : 93 Question Id : 5038908046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfafed o 9 gererT a1 & afd ST &1 o 31 g2

Options :
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. % ool St 9 difsd g

% 3yid chop e
. Q& BT ST
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Question Number : 93 Question Id : 5038908046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfoafed o 9 gererT »arg & afd ST &1 o 31 g2
Options :

1. % foodfl SR 9 Gifgd g

2. % 3 ol BT

3. ¢ QTG BT 3|

4. % SR1 T SF A S

Question Number : 94 Question Id : 5038908047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=fied & 9 didifad " Hegd iis da" &1 &1 31 g2
Options :

1. ¥ S 8H & UG ol B & 3337 |

2. % = Y R &1 31 SgT |

3. % <19 &1 U &I graT g |

4. % U E IR D13 7 ol |

Question Number : 94 Question Id : 5038908047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffRad o O Tepifad "I Head NS da” o1 o 313 g2

Options :
1. BB P Ugd ol Bd Bl 331
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2. % & Y s &1 31 d61|
| 3 sdaminafimdare |

4: % Uh g IR BIs 3 ST g |

Question Number : 95 Question Id : 5038908048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 feu T gt & for s o1 v =g fohar T 89

Options :

1. % 3feyfor™ forg
2. % guffor™ forg
3. % Il g

4. ¢ TNIHIRM g

Question Number : 95 Question Id : 5038908048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 feu T are & forg g o1 v =18 fopar T 89

Options :

1. % 3fcufor™ g

2. % guifqR™ fog

3. % vl g

4. ¥ QST T

Sub-Section Number : 2

Sub-Section Id : 503890373
Question Shuffling Allowed : Yes

Question Id : 5038908049 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
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Question Numbers : (96 to 100)

frfeRad eI 1 eaTyde 31erae PR U=l & SR SIforg-

i< o1 IRG 3® TR I B okl ¢ | 15T g Bt IRE, GHSAT dUT ST THafad BT TR 8| 91d TU & 1Y I o7 Ht Tt

Bl I € a9 S I9are &1 SIHf H 8l 81 U avg grax a1 A6 g ofl Wbl 5, TR Grax %] 5ad gi-5d] dl Ygee il g,

STae! TRY a¥g facd @t sfifed Bt 81 59 P I Hid etk U off &1 a0 grex § 94T Sifiar o1 Udhid 9uiH TR &,

g’%wﬁ%?%ﬁwwdl g1 GraX Vg YPIU| g, STafds “HAgR S adl faxgd || T H TuRor axq +t fawis uedita it § aut
TR |

Sub questions

Question Number : 96 Question Id : 5038908050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefoRed # @ Swiad T &1 3 e oiF-ar g2
Options :

1. ¢ Fodl d-H EEIERGIN

2. % ol DI HepIofdT|

3. % TIGRAl & fa¥qgaanl

4. % IRAN T YT

Question Number : 97 Question Id : 5038908051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fREffed & @ -1 “HAIgR” &1 Taigar Ueg g2
Options :

1. % 3fThYD

2. 8 PY

3. % fagy

4.+ IAUIIH

Question Number : 98 Question Id : 5038908052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Quad 9 & IR BIFCIE & U JUi BT YR gl

Options :

1. % 3! 3ffyfed
2. ¢ 3! TGl

3. % D] Uhid

4. % IS DI SIHfd

Question Number : 99 Question Id : 5038908053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SO TR H T foh TTY RTeg "D 10 T4 “fIeqa Th-gak & gl
Options :

1. % Ugigardt <Teg

2. % T R

3. ¢ faeiiA Tsg

4, % I Yqeq

Question Number : 100 Question Id : 5038908054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST T & SR, S 1 +f} W= 8 9T § 9 SH ITRaTE Bt eyfd o B B
Options :

1. % =Y o 1Y Fraxdl

2. % TY & 1Y FHAGR

3. ¥ U D Y AR

4. % T o 1Y Y[

Question Id : 5038908049 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)
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Sub questions

Question Number : 96 Question Id : 5038908050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed o § Sudad ey &1 Sfud 2ife HH-arg?
Options :

1. ¢ Grexdl 919 HHI8RT|

2. % Goxdl Bl HpioldT|

3. % TGl & [a¥gaan|

4. % R Td T

Question Number : 97 Question Id : 5038908051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PrIferfad 3 Q S-a1 HleR 1 vt T 2
Options :

1. % 3THYD

2. % P

3. % fdgu

4. ¢ IAUIH

Question Number : 98 Question Id : 5038908052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUad TR & TR HICIGRT & U1 GuH BT YR gl
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Options :
1% It fieafad

2. ¢ 3D AAEdl
3. % D] UPhld
4. % IYRATG B IH[d

Question Number : 99 Question Id : 5038908053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STfa TR # U T U ¥reg Hpioh U o Uh-gmR & ad
Options :

1. % UgigaTd <Teq

2. % UM Teg

3. ¢ faam wIsg

4. % g 6T

Question Number : 100 Question Id : 5038908054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TR & TR, 96 &1 1t To=f 81 S1TaT | 99 S IuraTe @ Sgyfd ot e B
Options :

1. % =Y o 1Y Fradl

2. % TY & IIY FAGR

3. FUS Y IR

4. % ¥ o 1Y Y[

Disciplinel
Group Number : 6
Group Id : 503890187

Group Maximum Duration : 0
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Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 503890311

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 503890374

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5038908055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which model of job designing has the features stated below?
1. Simple or complex job scope

2. The high or low degree of individual need strength.

3. The nature and type of overall organizational design.

Options :

1. # Socio technical model

2. ® Motivating potential score model
3. ¥ Contingency model

4. ® Socio information processing model
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Question Number : 101 Question Id : SD38908055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SiTe feusf= & foog Arsa & Fafafad fagvan g
1. I a1 Sifed »rf &

2. a1 3= a1 g f&ift & arpd &1 sazasar gl g |
3. THI AGTHSD SO &1 UHid 3R THR |
Options :

1. % ISP dh-lpt Hisd

2. % JYTfdd PR Hied &I 9T BTl

3. ¢ SIS HI8d

4. % IS 1 UHhR0l ArSd

Question Number : 102 Question Id : 5038908056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It presents an account of all receipts and payments against outflow and Inflows of goods and services abroad by the resident country. What is it
called?

Options :

1. ¥ Balance of payment

2. # Receipt of advance

3. # Balance of trade

4. ® Cash inflow and outflow

Question Number : 102 Question Id : 5038908056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o forfaa o @ o el g2 g fad=nl & Arer 3R arell & afgafg SR sidafe 1 it wiftedl $iRk YIrar! o1 dRar-sian Ugd &l 82

Options :

1. ¥ T e
2. % ot @ e
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3. % UR oA
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Question Number : 103 Question Id : 5038908057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
reflects changes in foreign assets and liabilities of the country.
Options :
1. # Current accounts
2. ¥ Capital accounts
3. % Debtors accounts

4. % Auditors accounts

Question Number : 103 Question Id : 5038908057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR Bt A= FUfy 3R qaTRal H uRad @l =iidr 8|
Options :
1. % g @rd
2. ¥ Yol 1
3. % QIR WMd
4. % I R Trd

Question Number : 104 Question Id : 5038908058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does EDI stand for?

Options :

1. ®* Electronic Data Interface

2. ¥ Earn deferred income

3. ¥ Electronic Data Interchange
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4. ® Electronic Digital Interchange

Question Number : 104 Question Id : 5038908058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3.31.3(18. (EDI) &1 quf &g & 82
Options :

1. % ISP SICT ScRBY

2. % 3 SHS TAHH

3. ¥ S STl STl

4. % SAT® RRed Sexd

Question Number : 105 Question Id : 5038908059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bill which requires the drawee to make payment immediately on presentation, is-
Options :

1. ¥ Sight bill

2. % Usance bill

3. % Bill of lading

4. ® Foreign bill

Question Number : 105 Question Id : 5038908059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e el Rorga 7T srarerdl &1 TRA(IPRUN TR qid YITdTH R 1 STaRudhdl 8idl ¢, 98 8-

Options :

1. ¢ 2P fad

2. % Hrardl fad
3. % TG &I fad
4, % fqe=f foa
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Question Number : 106 Question Id : SD38908060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an advantage of automated accounting system?
Options :

1. ® It is accurate

2. % Ttis fast

3. % It has a high development cost

4. # Tt can store large volume of data

Question Number : 106 Question Id : 5038908060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad & I H-a1 wafed akar yore o1 oy T8l 82
Options :

. % gD

2. % AW o

3. ¥ 3P| I AT AN ©

4. % UE IS AN H ST WR R I&Hdl 8

Question Number : 107 Question Id : 5038908061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a role of profit in business?
1. Future Growth and Expansion

2. Replacement of old assets

3. Evaluation of the success of the organization

Options :

1. % Only 1 and 2
2. % Only 2 and 3
3. % Only 1 and 3
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4.% 1,2 and 3

Question Number : 107 Question Id : 5038908061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 SF-a1 gaura 8§ @y &t it g2
1. Hfosg & fgem SR fawr

2. QR i & ufawiaE

3. TS 1 Yhaidl BT edich

Options :

1. % Had 1 3R 2
2. % Had 2 3R 3
3. % PHad | 3R 3
4.9 1,233

Question Number : 108 Question Id : 5038908062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The limitations of cooperative societies is -
Options :

1. # equality in voting status

2. % Stable existence

3. # Limited liability

4. ¥ Limited finance

Question Number : 108 Question Id : 5038908062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TEHRI TfAfal &1 o i gt 82
Options :

1. % 9IC B JAF

2. % qyTies fRUfa
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3. % Hiftd qifia
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Question Number : 109 Question Id : 5038908063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A worker was working in a factory. He noticed a leakage in the cooling systems pipeline. The company suffers a huge loss due to this. Which of
the following business-risks is being exhibited here?

Options :

1. # Natural Cause

2. % Political Cause

3. ¥ Physical and technical cause

4. ¥ Human Cause

Question Number : 109 Question Id : 5038908063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T B! H T HOIGR PTH B 381 UT| I ST fob Rilder JuiTell Urguars § U K6 ¢ 1 389 U $bI WY JHHH 81 36T 3 |
Foffad 7 @ SI-a1 rauiie-sniad agl yaiRid fobar o w81 2

Options :

1. ® YIpidd HRU]

2. % ISP BRI

3. ¢ Wifd® 3R TH-id! HRUT
4. % TG HRUT

Question Number : 110 Question Id : 5038908064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which tax aims to subsume plethora of taxes into one single tax across the country and make goods uniformly priced across India?
Options :

1. % Sales tax

2. % Value Added Tax
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3. ¥ GST

4_#% Ipncome tax

Question Number : 110 Question Id : 5038908064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T R BT 352, T HR & Gt R0 B U & R | YHIfed BT 8 3R W HRA H T Bt S Th THH ST 82
Options :

1. % fopt R

2. % T aitfd

3. ¢ Siiuge!

4, ® 3D

Question Number : 111 Question Id : 5038908065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 2020-21 the chief source of the central government revenue was
Options :

1. # Excise duty

2. % Sales tax

3. ¥ GST

4. ® VAT

Question Number : 111 Question Id : 5038908065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2020-21 H &g IRDHR b oTd BT A Hid T |
Options :
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4. % J¢

Question Number : 112 Question Id : 5038908066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mc Donalds operates their fast food restaurants all over the world through which of the following?
Options :

1. ® Licensing system

2. ¥ Franchising system

3. # Chain system

4. ® Both Licensing and Franchising system

Question Number : 112 Question Id : 5038908066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 fafaa o 9 fora H1egw & gR1 A% SHEH T g1 H 30 BRe B8 J&RT &1 JaTferd HRdl 82
Options :

1. % A3y Yol

2. ¢ TSl Yol

3. % Sl YUt

4. % IR SR WrasfoiT Rew !

Question Number : 113 Question Id : 5038908067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is one where the firm’s participation in the export/ import operation is minimum and most of the tasks are carried by middlemen.
Options :
1. # Direct Exporting/Importing
2. ¥ Indirect Exporting/Importing
3. # Re Exporting/Importing
4. ® Direct/ Indirect Importing
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Question Number : 113 Question Id : 5038908067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g © ofei A simard erer 8 o Bt yriieRt an § 3R sifieie & fa=ifed! grT fbu S B

Options :

1. % g fatasmara

2. ¢ g Fata/smard
3. % g: fafa/smard &=t
4. ® TG&/3YTE Td

Question Number : 114 Question Id : 5038908068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Govt. has passed an Act to ensure that the goods exported are quality wise up to the mark. Which Act was that?
Options :

1. ¥ Export Quality control and inspection Act. 1963

2. % Export Inspection and Quality control Act. 1953

3. # Export Quality and Inspection Act. 1973

4. ® EBxport Quality control and Inspection Act. 1983

Question Number : 114 Question Id : 5038908068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R A Fafd T TC IHE ST 06T &1 AT HA & L SRIad H ¥ DiF-91 T ifaifam uika fear g2
Options :

1. « Tyafa Toraa fgam SiR At sifdfaw 1963.

2. % fyaia FRieror 3R Torar o sififaw 1953

3. % fyafd Toremn ik FAteror sifefam 1973

4. % fyafa oras fgzor sik fsteror sifdfam 1983
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Question Number : 115 Question Id : 5038908069 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following sources of fund does not come under long term loan?
Options :

1. # Government Debt

2. % Mortgages

3. ¥ Invoice financing

4. % Debentures

Question Number : 115 Question Id : 5038908069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SWRIF | ¥ TS P1 DI 1 AId &Y PIci B0 H g a1
Options :

1. % IR Pl

2. # fiRd!

3. ¢ 1A faayor

4. ® U

Question Number : 116 Question Id : 5038908070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following represent ranges of the period of a commercial paper?
Options :

1. % 20 to 40 days

2. % 60 to 90 days

3. % 120 to 365 days

4. ¥ 7 days to 1 year

Question Number : 116 Question Id : 5038908070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
9 & A v aIiOIfRes Uzl Bt uRuehdl Brafey SadR W fabda fa &t gidl 82

Options :

1. % 20T 40T
2. % 60T 90 feA
3. % 1209 365 faA
4. 7149 1 91d

Question Number : 117 Question Id : 5038908071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Small scale and Large scale industries - these are the classification of industries on the basis of-
Options :

1. ® Nature of activity

2. % Nature of goods produced

3. % Level of investment

4. ¥ Size of activity

Question Number : 117 Question Id : 5038908071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y 3R T8 YA & YN - T8 h 9 SMUR TR SN &1 a0l 82
Options :

1. % fohar &l Uepfal

2. % JdTcd IXI31l bl Uehid

3. % (ag &t 7=

4. fopursfi & bR

Question Number : 118 Question Id : 5038908072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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The securities contracts (Regulations) Act, 1956 has defined stock exchange as an association established for the purpose of assisting, regulating
and controlling business of

Options :

1. # Buying, selling and dealing in gold and silver.

2. ¥ Buying, selling and dealing in securities.

3. # Buying, selling and dealing in goods and services.

4. ® Buying, selling and dealing in wheat , rice and sugar.

Question Number : 118 Question Id : 5038908072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fafaa @ 9, wfayfa sraay (afamm) siftfam, 1956 A Wi Taesl &) ®1F 9 T8 T9 & U # aRuifid forar §, forest wimor
I $t T, faf e 3R a0 & I J F1 718 82

Options :

1. % I 3R Tt H Wi, 9T 3R A & ST

2. ¢ Ffayf 1 BRIGHAT, I91 3R T & BT

3. % Xl SR Taraf & @G, dg-T SR T S AT

4. % g, 919 AR I B TG, [ShT 3R T < HeAT

Question Number : 119 Question Id : 5038908073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X bought goods from Y, for Rs. 1 lakh less 10 percent trade discount and 5 percent cash discount. X made payment of 60 percent in cash. How
much cash discount will X receive?

Options :

1. ¥ Rs. 2700
2. ® Rs. 4500
3. % Rs. 5400
4. % Rs. 6000

Question Number : 119 Question Id : 5038908073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
XY ¥ | ARY HH 10 UiRId AR FE 3R 5 TR ADhE ge 300 & T BRIaT| X 7 60 Wi Toe YIdH 6311 X i fbdt 9aa

e et
Options :

1. ¥ 2700 30
2. % 4500 39U
3. % 5400 3UY
4. % 6000 3T

Question Number : 120 Question Id : 5038908074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is more concerned with the science of mankind and the study of human behavior as a whole. Issues like individual culture,
organizational culture, comparative attitudes and cross culture analysis etc are the fields of it.

Options :

1. #® Social psychology
2. ® Sociology

3. ¥ Anthropology

4. ® Psychology

Question Number : 120 Question Id : 5038908074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YA o1 & o5 SR W ¥ § Hd FG8R & 3199 § SHiUS ISR ¢ | e, ol 1 fadiTd Ui, TG TG,
AT EPHI0T 3R I Tl [ARATT 1S THb &F 5 |

Options :

1. % QTSP G

2. % FHTCTRIRA

3. ¢ R (RF)

4. % TG
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Question Number : 121 Question Id : 5038908075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which approach in study of organizational behavior assumes that nothing is like permanent way of arriving at a particulars solution effectively.

Options :
1. ¥ Contingency approach
2. % Contemporary approach
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3. # The system approach

4_#% Problem Qn]ving ﬂpprnm‘h

Question Number : 121 Question Id : 5038908075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁuﬁ@q_g%@r TS HGER & LT IR DI T DD 101 T8 AT & foh bl TR T IR wHTdt € @ Ugan &1 R axiebr
)

;)Wp;ions:

1. ¢ 3Th D DI

2. % JHBICH BB

3. % RRew e

4, % JHYT & GHIYH BT BP0

Question Number : 122 Question Id : 5038908076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An Indian firm purchases goods from Taiwan and then sells those goods to the European Union countries. Which of the following is the above-
mentioned trade an example of?

Options :

1. ® Import Trade
2. % Export Trade
3. ¥ Entrepot Trade
4. # Retail Trade

Question Number : 122 Question Id : 5038908076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP YR B dga ¥ I Wiied § iR iR 39 Wil o) R Tg & =1 &bt st 8 | Sudad TR g § ¥ frdent Iererurg?

Options :
1. % 3R IR (AT ATIR)
2. % g AR (Faid aR)
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Question Number : 123 Question Id : 5038908077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which theory advocates that the learner’s response is instrumental in producing reinforcing stimulus?
Options :

1. #® Classical conditioning

2. ¥ Operant conditioning

3. # Social learning

4. ® Cognitive learning

Question Number : 123 Question Id : 5038908077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fafed @ 3 o w1 Rigid 39 o1d &1 gfY o ¢ o Riemdf &1 ufafsar uea Scsmn Ua 37 & 981 gidl 62
Options :

1. % Yidfgd 3rJpa

2. ¢ Tood U Sae

3. % QAT SfETH

4. % GYMTHD HITH

Question Number : 124 Question Id : 5038908078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Praise, appreciation, bonus, additional benefits for enforcement of output are the devices of-
Options :

1. ¥ Intervention strategy

2. % Functional analysis strategy

3. ¥ Evaluation of performance strategy
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4. ® Time strategy

Question Number : 124 Question Id : 5038908078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR, TRTeT, JaRier, ifafved Ty S IdTe (3M3TYe ) T Hddd H- & o7t JXHTS fhd SId & 9d [y WoHifd w1 e ga g 2
Options :

1. ¢ §E&Y UM

2. % HRTHD [T U

3. % TR UM &1 geaid

4. % g U

Question Number : 125 Question Id : 5038908079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not the function of stock exchange?

Options :

1. # It provides ready and continues market for buyers and sellers for the existing shares and debentures/bonds.
2. # It provides ready and continuous market for buyers and sellers for the existing shares and debentures/bonds.
3. % Provide safety to dealings and investments in securities.

4. ¥ It does not permit speculation of securities.

Question Number : 125 Question Id : 5038908079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed 7 71 e TRS &1 H1 6l 82

Options :

1. % gg UGGl 3R 3R HUET / T8 & WIGR! 3R faghdrstt & iy, TR SR Jdd 9T6IR Y& dxdl g

2. % TIo[aT R} U4 FEaRi/are & forg WiieR! 3R fagharsit & fog duR 3R FRER S6IR (#H1dhe) UeH &A1
3. % gfayfaat & A SR <1 &1 JRET U™ HRAT|

4. T8 TfaYfadt Bt sfchalt Y 3rgHfa TeT ST B
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Question Number : 126 Question Id : SD38908080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Which of the following functions of management includes guiding the subordinates, supervising their performance, communicating effectively
and motivating them?

Options :

1. # Controlling
2. # Staffing

3. ¥ Directing
4. % Organising

Question Number : 126 Question Id : 5038908080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

geie & Fofafad 7 3 frg o 3 sl &1 arfesi| &A1, 3% Bl BT Thaerur HRAT, GET ¢ 3R SHUYor 31 2Mfid 82
Options :

1. # =01 BT

2. % fgfad &3

3. ¢ e &=

4. % JIST DA

Question Number : 127 Question Id : 5038908081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a contract between two parties to buy or sell an asset at a specified price on a future date.
Options :
1. # Spot delivering contracts
2. # Ready delivery contracts
3. % Forward delivery contracts

4. ® Backward delivery contract
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Question Number : 127 Question Id : 5038908081 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&l gefl & o9 Ue Hiaw &t aRie § T Y Jou R te uft @sien a1 sa- &1 3eY 3|
Options :
1. % Wi fqaRu 3aYy
2. % qUR faavur sgey
3. ¥ hRAS [qaRUT 3IaY
4. % {UDSI faaRUr 3aY

Question Number : 128 Question Id : 5038908082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The SEBI under SEBI Act, has been made the administrative authority for enforcement of general control over the trading of stock exchange
while companies Act Contains provision of

Options :

1. ¥ Issue of capital, disclosure of important information, special audit.
2. # Regulation of contracts in securities.

3. # Recognition of stock exchange.

4. ® Listing of securities.

Question Number : 128 Question Id : 5038908082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AT & I8d el Bl Widh TeRTdol & AR TR FH 01 T A o o IR -ds TfeHR0T =1 711 8, STaid doul
Sfferfrom &I g

Options :

1. ¢ ol SR} &A1, AUl STHBRT BT G, fa=ie aam usier |
2. # gfayfcdl ¥ srgae o1 fafAag-|

3. % WP URTHS ! A=

4. % gfqyfaal &1 et a9
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Question Number : 129 Question Id : 5P38908083 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which country, the Code on desirable corporate governance was published by the Blue Ribbon Committee?
Options :

1. # China

2. ¥ USA

3. # India

4. % Japan

Question Number : 129 Question Id : 5038908083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& e affa gRT ford <1 7 aie-11g SIdRe TR 0 ®Ie UhIRId [T T 412
Options :

1. % 4

2. ¢ JquUIY

3. % YRd

4. % SqTq

Question Number : 130 Question Id : 5038908084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which stage of product life cycle, the company takes decision to phase out weak products and cut price of the products?
Options :

1. # Introduction

2. % Growth

3. #® Maturity

4. ¥ Decline

Question Number : 130 Question Id : 5038908084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
g forfed & 9 Iare Siiad I & fhaleRor &, HU-t HHSIR IdTE! Bl IRUEG B 3R IATG b BIHd B deldl B B (U ddl 52

Options :

1. % gy
2. % fqh1y
3. % URUedl
4. ¥ &9

Question Number : 131 Question Id : 5038908085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a type of market segmentation?
Options :

1. ® Geographic segmentation

2. % Demographic segmentation

3. ¥ Holistic segmentation

4. ® Behavioural segmentation

Question Number : 131 Question Id : 5038908085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIRed & I DF-91 Udh UHR &1 JoIR faHToH ol 8?2
Options :

1. ® Yrnfae fausH

2. % SHYIRSTD I faHTS-

3. ¢ guY faure

4. % HIgR faureH

Question Number : 132 Question Id : 5038908086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Factors like reference group, cliques and family that influence behaviour of consumer is known as |
Options :

1. ¥ Cultural factor
2. ¥ Social factor
3. ¥ Personal factor

4. ¥ Behavioral factor

Question Number : 132 Question Id : 5038908086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e gE, e 3R URAR O R& UG & IIER Bl UHIlAd dRd g o FHeT o g
Options :

1. % Gikpided HRb

2. ¢ HHISH HRED

3. % HfGATTd HRD

4. % YdgR dRD

Question Number : 133 Question Id : 5038908087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A group of items within a product line that share one of several possible forms of the product is known as
Options :

1. # Product Family

2. % Product Class

3. % Product Line

4. ¥ Product Type

Question Number : 133 Question Id : 5038908087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG AT & IR IXg31 BT U TG, Sl SUIG & e GHIAd Ul § Y U I A1eN Rl 6, 34 Hed gl

Options :
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Question Number : 134 Question Id : 5038908088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Advertisement like "say no to drugs" is an example of which kind of marketing?
Options :

1. # Brand marketing

2. ¥ Social marketing

3. ® Responsibility marketing

4. ® Value marketing

Question Number : 134 Question Id : 5038908088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"SR B A g ST [IFIH IWIad | ¥ fhd UHR & faUuH &1 331601 82
Options :

1. % SIS Wb e

2. ¢ AT fauur

3. % JWREIA fauuE

4. % g fqquH

Question Number : 135 Question Id : 5038908089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the demand in which Consumer dislike the product and may even pay to avoid it?
Options :

1. ¥ Negative demand
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2. % Irregular demand

3 % [ atent demand

4. ®% Declining demand

Question Number : 135 Question Id : 5038908089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ THRIHSD A

2. % 3{Tfid qiv

3. % I HA

4. % gadl g

Question Number : 136 Question Id : 5038908090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
on the pre-shipment finance is given to seller by the buyer to enable the beneficiary to draw an advance against shipment.
Options :
1. # Revolving credit
2. # Restricted credit
3. ¥ Red clause letter credit
4. ® Transferable credit

Question Number : 136 Question Id : 5038908090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 137 Question Id : 5038908091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under the document against acceptance method, the exporter draws a usance or time bill. These bills have a usance period of—
Options :

1. ¥ 30, 60, 90, 120 or 180 days

2. % 40, 80, 100, 130 or 190 days

3. % 30, 50, 100, 120 or 190 days

4. % 20, 50, 90, 120 or 180 days

Question Number : 137 Question Id : 5038908091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%%_c%@%\ﬂ%dsd Wipfa faftr & R, Hafdes e diard a1 9a foa Heradr & St smards ! fear ST € 341 f9al & Jiare safy o
?

Options :

1.+ 30, 60, 90, 120 T 180 f&
2. % 40, 80, 100, 130 TT 190 &
3. % 30,50, 100, 120 T 190 f&
4. % 20, 50,90, 120 T 180 f&1

Question Number : 138 Question Id : 5038908092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an advantage of WTO to India?
Options :

1. #® Boost in export

2. # Tradelinks with member countries

3. # Special concessions for developing countries
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4. ¥ Mainly focused on developed countfies

Question Number : 138 Question Id : 5038908092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofRed # ¥ 19 YR & o [y TR W13 1 a1 81 52
Options :

1. % Fafa o gfs

2. % Yo o= o 1Y ¢S

3. % fapra=ite ¢=ii o fore faviy Ramrd

4. ¢ &1 %0 Y faad <= m digd

Question Number : 139 Question Id : 5038908093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the orderly arrangement of group efforts to provide unity of action for the attainment of a common purpose?
Options :

1. # Planning

2. ¥ Co-ordination

3. # Managing

4. ® Strategising

Question Number : 139 Question Id : 5038908093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiRad # 9 &9 91 U I 3530 A GRIT & HHAIRA! gRT FHTSd B BRI 6 &1 fohdl 82
Options :

1. % o1 ST

2. ¥ gHdY

3. % gdY Bl

4. % U ST
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Question Number : 140 Question Id : 538908094 Question Type : MCQ Option Shuffling : Yes

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many types of co-operative banks are operating in India currently?
Options :

1. %2

2.¥3

3. % 4

4, %5

GET IT ON

Google Play

Is Question Mandatory : No Option

Question Number : 140 Question Id : 5038908094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HRA H gdAH & fhaa TR & JehRI db BT H | 82

Options :
1. %2
2.¥3
3. % 4
4. %5
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Discipline3
Section Id : 503890313
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890376
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 5038908095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

State in which scenario, the value of rupees in relation to Japanese yen will appreciate? Assume exchange rates are free to vary and other factors
remain constant.

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Growth rate of national income is higher than that of Japan.

2. Inflation in India is higher than that of Japan.

3. Prices in India and Japan raises at the same time.

4. Real rate of interest in India are higher than that of Japan.

Question Number : 141 Question Id : 5038908095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. AP 3T B e &R UM B g1 H 31D 5|
2. HRd & GEIpIfd ST ¥ 31fee 5|

3. HRd 3R ST H B1Hd T J1d Igat g |

4. YRd & IRAfde STl & S 9 3 g |

Question Number : 142 Question Id : 5038908096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where were [.M.F. and World Bank set up?
Options :

1. ¥ New Hampshire

2. % London

3. % Geneva

4. % Copenhagen

Question Number : 142 Question Id : 5038908096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3TS.TH.UW. 3R {3y 6 &1 RITHT Hgl B 132
Options :

1. ¢ 3 SRR

2. % TeA

3. % foMar

4. % BTG
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Question Number : 143 Question Id : 5038908097 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following does not come under consumer’s rights according to Consumer’s Protection Act 19867
Options :

1. # Right to safety

2. % Right to be informed

3. ¥ Right to get legal assistance

4. # Right to seek redressed

Question Number : 143 Question Id : 5038908097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TREfUT SHFAFTH 1986 & STIR = AT 7T fIBRI & § T UM & SMABRI & Hiid e AT ]2
Options :

1. % R&I BT YBR

2. % YIAI DT JHYDR

3. ¢ P Tl UK R BT DR

4. % THGRUI B HT DA BT HYDR

Question Number : 144 Question Id : 5038908098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following features is incorrect about cash-credit?
Options :

1. # Under this system, a person, firm or company can borrow
money from the bank.

2. ® The borrower has the choice to withdraw money as and when required
3. % Interest is charged on the amount withdrawn by the borrower.
4. ¥ Cash credit limit is decided by the RBI and is reviewed quarterly

Question Number : 144 Question Id : 5038908098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The-FU & TR | Fafafad & T - fawar Ted 82

Options :

1. % YU & dgd, Bl e, BH T HU-T 9 I T SUYR o Jball

2. % YRG! &b U 3MaIHd US4 R U FAwbTeq &1 fabed glar g

3. % JYRBd gRT HbTel T3 T TR SIS T ST 8 |

4. ¢ ThC FHUT TIHT RIS GRT 9T P Sl § 3R IHTRID THi&T &1 el &

Question Number : 145 Question Id : 5038908099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A complaint can be made to the state commission when the value of goods or services-

Note: For this question, discrepancy i1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. exceeds Rs. 20 lakhs but does not exceed Rs. 1 crore

2. exceeds Rs. 40 lakhs but does not exceed Rs. 1.5 crore

3. exceeds Rs. 20 lakhs but does not exceed Rs. 2 crore

4. exceeds Rs. 80 lakhs but does not exceed Rs. 5 crore

Question Number : 145 Question Id : 5038908099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 1 Jarsfi & g B TR IS ST &I RGBT &1 o Gahel! 8
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1. 20 ARG Y YD TR 1 HRIS I HH
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2. 40 ARG Y 3D TRl 1.5 PRIS I Pe

320 ARG-T-34{¥eh =g 2 s Y

==

4. 80 ARG I YD TRl 5 HRIS I HH

Question Number : 146 Question Id : 5038908100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following types of bank-accounts allows for overdraft facility to the account-holder?
Options :

1. #® Fixed Deposit Account

2. ® Recurring deposit

3. # Savings Account

4. ¥ Current Account

Question Number : 146 Question Id : 5038908100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifed & @ H1F I So-TTdT TaRS &) Affaes gfawr Bt Al edr g2
Options :

1. % gral SH7 @1l

2. % 3fTadl ST @l

3. ® dd SHI ATdT

4, « T STHT ATl

Question Number : 147 Question Id : 5038908101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which characteristics from given below does not justify the role of non governmental organizations.
Options :

1. # They educate the general public about their consumer’s rights through seminars , workshops etc.

2. # Carrying out comparative testing of consumers products.
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3. ¥ They are of unlimited size, thus fulffll their every goal easily

4% Providing legal assistance to consurhers by way of providing aid , legal advice etc.

Question Number : 147 Question Id : 5038908101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 €t 18 Pt fIRIVATE TR-IRSRT W11 &1 YHHT DI Ifad 81 savr g |

Options :

1. % J TH Sd1 BT 3T UG USRI & IR T VAR, HraRmanst onfe & dAred § Riféd avd g
2. % IO TG BT JATTHD URIE0T H=AT|

3. ¢ 3 3T 3MBR & Bl &, 3T TR 310 8 76T b1 S & WA Ad &

4. % FETIAT, BT TS 3 UG B SUHIFATSHT D1 B Geadl Ua BT

Question Number : 148 Question Id : 5038908102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Every year is celebrated as "World Consumer Rights Day".
Options :

1. ¥ 15th March

2. % 15th May

3. % 15th April

4. % 15th January

Question Number : 148 Question Id : 5038908102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ud® Iy B! "Iy ST ISR fGaw & =g H 7=ma1 SI1d1 g |
Options :

1. 1591

2. % 15T
3. % 15 30d
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4. % 1593

Question Number : 149 Question Id : 5038908103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a bill drawn on 5th March for 30 days by A to B, then the date of maturity will be—
Options :

1. % 5 April

2. % 6 April

3.9 7 April

4. % 8 April

Question Number : 149 Question Id : 5038908103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 5 TTE BT A ¥ B gRI 30 fat & forg oI5 foa T siran 8 O alkuedr & faf gim-
Options :

1. % 530

2. % 630U

3.¢ 7 30d

4. % 8 30

Question Number : 150 Question Id : 5038908104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the following two lists-
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List 1 List 2
1 Principle of the insured ¥ not allowed to make any
** | Contribution = | profit from the insurance contract onthe
happening of the event thatis insured
against
- Principle of b, | the same subject mattermay beinsured
=" | Subrogation with more than one insurer.
3. | Prnciple of Indemnity | _ this principle ensures thatthe insured does
) " | notbecome negligent about the safety of
the subject matter aftertaling an msurance
policy
4. Prnciple of d. | once the claim of the msured hasbeen
MMitigation settled, the ownership nght ofthe subject
matter ofinsurance passes on to the msurer

Choose the code that correctly matches the contents of List 1 with that of List 2.
Options :

1. ¥ 1-b, 2-d, 3-a, 4-c

2. % 1-d,2-b, 3-c, 4-a

3. % 1-c, 2-d, 3-b, 4-c

4. % 1-b, 2-c, 3-a, 4-d

Question Number : 150 Question Id : 5038908104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad af gl &R foaR &1-
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: B

1 i L R T SH THE R AT %ﬁﬁﬁﬁ'ﬁmﬁ
T TEATH Gied gin T AT FTET W
S AT A T IE AT

5 | FTOEETIA b. | TR TSI aEq T @A U W

= | rEeE FATAHT T T AT AT HFATE |

3. | aEd w e | o | T6 S Ead o ¢ e
gifererarY ¥ g AIfEd eated AT aeg
T T & U7 SATIHEIE AET & ST
AT P FATA | d. | 58 HEd S FAHR T16 alAd & ard &7

=T fEaTT HIERT 2T ST & S e & Eerarg T
T SRR T Ao & ST &
dg DIS I Sl G 1 ! It I gt 2 &1 Il I el Od W@rai gl |
Options :

1. ¥ 1-b, 2-d, 3-a, 4-c
2. % 1-d,2-b, 3-c, 4-a
3. % 1-c, 2-d, 3-b, 4-c
4. % 1-b, 2-c, 3-a, 4-d

Question Number : 151 Question Id : 5038908105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a function of warehouses in present times?
1. Risk bearing

2. Financing

3. Processing of stored materials

4. Transportation

Options :

1. # Only 2 and 4

2. % Only 1 and 2

3. % Only 3 and 4

4. ¥ Neither 1 nor 2 nor 3 nor 4
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Question Number : 151 Question Id : SD38908105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiyd & @ eF-a1 gduH I9g B HeRie! &1 w1 8 82
1. SIRaT ST

2. fa<iigA

3. GUBId A ol Ufehaum

4. Ragd

Options :

1. % Had 2 3R 4
2. % PHad 1 3R 2
3. % $Had 3 3R 4
4. AN, A2, A3 3RATE 4

Question Number : 152 Question Id : 5038908106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these statements is true from the following?

Options :

1. # Advertising agencies take up the responsibility of distributing the goods.
2. ¥ Newspaper advertising is relatively cheaper than television advertising.
3. % Specialized magazines are most suitable for consumer goods of daily use.

4. % The use of medium does not helpful in achieving goals of sales.

Question Number : 152 Question Id : 5038908106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TTH Y D I Sy FEfaRed # 4 93 82

Options :

1. % fOTU Uit 71dt o fIeRur &t fordiaR) dcft 51

2. ¢ JHEIR T &1 fagToe Saifasi g &t e # sieidhd I & |
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3. % e IUANT ot IuMiadr awgaii F for falkry ufieTt gad Suged g
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Question Number : 153 Question Id : 5038908107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Continuous existence of a company irrespective of change in membership of the same is known as
Options :

1. # Separate entity

2. # Voluntary association

3. ¥ Perpetual succession

4. % Common seal

Question Number : 153 Question Id : 5038908107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopelt Ut B! Tewar H uRadd & S1av[g S9d MR Siiddd &l & &g & S 91 g |
Options :

1. % 3T SHhTs

2. % Wfesd ¥9

3. ¢ Fdd STRIYPR

4, % MHYR

Question Number : 154 Question Id : 5038908108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who of the following does not have a stake in the business?
Options :

1. # Investors

2. % Taxation authorities

3. % Customers
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4. ® Creditors

Question Number : 154 Question Id : 5038908108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRed & 3 forgeT caura § of=1 761 g1 82
Options :

1. % fFdzel

2. % DAY 3SR

3. ¥ URDT

4. % TR

Question Number : 155 Question Id : 5038908109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is that part of nominal capital which is actually offered to the public for subscription?
Options :

1. # Authorised capital

2. % Paid up capital

3. ¥ Issued capital

4. % Uncalled capital

Question Number : 155 Question Id : 5038908109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

75 & O 98 1 8 SNl ATHAT Uoil 1 a8 oW1 & Sl aiad § SiFdl o Geeddl & fod U] [T SiTdl 82
Options :

1. % 3ffPHd goll

2. % Ya Yoil

3. ¢ Eifed gont

4. % NI goit
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Question Number : 156 Question Id : SD38908110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a feature of a successful MIS?
Options :

1. % Itis flexible

2. ¥ It is complex

3. % Itis accurate

4. # It uses common input, output and processing procedure

Question Number : 156 Question Id : 5038908110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad & @ ©1F-91 U Thd THSTSTY & [aRwdT 78t 82
Options :

1. % gg a8

2. ggofed

3. % g b 8

4. % g Y $7Y¢, 3M3cYe 3R URIRAT Ufehar &1 SUai &=l §

Question Number : 157 Question Id : 5038908111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Purpose of 1s analyse the expenditure so as to ascertain the cost of various products manufactured by the firm and fix the prices.
Options :

1. # Financial accounting

2. ¥ Cost accounting

3. # Management accounting

4. ® Either financial or management accounting

Question Number : 157 Question Id : 5038908111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

B I G| BT IR0 H31 § For 7 raafie sars g1 fafaftia faftr Sarel &t anra fAdia &t oo e
g [Mi3d fobd S e |

Options :

1. % fo<itg Raied

2. ¢ ANTd kgl

3. ® J&YT craic

4. % 71 41 fo<iig a1 Ueed i

Question Number : 158 Question Id : 5038908112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Balance of revaluation a/c being profit or loss is transferred to in their old profit sharing ratio.
Options :

1. ¢ Partner’s capital a/c

2. % Profit and loss a/c

3. # Partner’s drawing a/c

4. ® Partner’s loan a/c

Question Number : 158 Question Id : 5038908112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 TR ATH §eaR & 3UId H, TTHcH W BT AT A AT G EH F BRI DI g bl A g |
Options :

1. ¢ ISR B Yol @rdl

2. % Y 3R g1 @ran

3. % YNGR ST STgI0T Wl

4. % YFIGR BT B0 @Il

Question Number : 159 Question Id : 5038908113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

List 1 contains important legislations that consider the business enterprises and List 2 consists of the associated year.

List 1 List 2

: Industries (Development 1965
" | and Regulation) Act &

. | Bureau of Indian Standards ; 1984
T | Act '

5 The Standards of Weights 1951
" | and Measures Act =

; Monopolies and Bestrictive i 1956

Trade Practices Act

Choose the code that matches items of List 1 with List 2 correctly.
Options :

1. ¥ 1-b, 2-c, 3-d, 4-a

2. % 1-a, 2-c, 3-d, 4-b

3.¥ 1, 2-b,3-d, 4-a

4. % 1-d, 2-a, 3-b, 4-c

Question Number : 159 Question Id : 5038908113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 1 & geayul f3u § off gl 39! R 3R &vd § SR gt 2 § ¥ag av a6

1 LGP
Feane (faswr 3T fafad=) 1969
e

AR HleTeh &30 Affega | b | 1986
3. | aTe 3R A & A Afafme | | 1951
ThITUsR 3R aidadTcas 1956
TR SadgH AT TaH

(2]
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Options :

1. % 1-b, 2-c, 3-d, 4-a
2. % 1-a, 2-c, 3-d, 4-b
3. ¥ 1-c, 2-b, 3-d, 4-a
4. % 1-d, 2-a, 3-b, 4-c

Question Number : 160 Question Id : 5038908114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not the cause of dissolution of partnership?
Options :

1. ¥ Expiry of the period of the business

2. % Insolvency of partner

3. % Death of partner

4. % Admission of a new partner

Question Number : 160 Question Id : 5038908114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Faffed § 3 oF 91 9RigR! & [dged &1 SR 8! &7
Options :

1. ¢ SR DI 3aiY DI FHIG

2. % UICAR &1 fearan

3. % OER &1 9

4. % qUUER BT Jax

Discipline4
Group Number : 9
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Group Id : 503890190
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Discipline4
Section Id : 503890314
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890377
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 5038908115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On which of the following principles of scientific management, decision should be based on facts rather than rule of thumb?
Options :

1. # Scientific Selection, Training and Development of Workmen

2. ¥ Development of Science for Each Element of Man’s Work

3. % Mental Revolution

4. % Maximum Prosperity
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Question Number : 161 Question Id : 538908115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafafaa § 3 frg amfe vey & Rigid & AR fufaT qwl w enumid g1 s 9 @1 sigyafig Fa w2
Options :

1. % 4l b1 TP T, RN ud faery

2.« fgd & BT &b TAD dd & foe fage &1 fawr

3. % AHER® Bifd

4. % fAHay e fowrm (@HfS)

Question Number : 162 Question Id : 5038908116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following foreman is not under the planning department?
Options :

1. # Instruction card clerk

2. ¥ Gang boss

3. % time and cost clerk

4. ® gshop disciplinarian

Question Number : 162 Question Id : 5038908116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofafed # 9 S1H-91 e faurT & sifd 9 e o gfeifed 781 82
Options :

1. % ¢ = forfue

2. ¢ T AR (3MfYHHY)

3. % JHY Ud o1Td foiftep

4. % SR
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Question Number : 163 Question Id : 5038908117 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who says this “Management accounting is concerned with accounting information that is useful to management”?
Options :

1. # T G Rose

2. % Anglo American council

3. % R.N. Anthony

4. % Smith Brown

Question Number : 163 Question Id : 5038908117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafoiad # § ge foram o818 "IeeH AWic &7 Wa I AR Jarsi I g S ysie & forg Iugnf gro
Options :

1. % A A

2. % el ARG B

3. ¢ SR, TR

4. % (Y SIS

Question Number : 164 Question Id : 5038908118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tata Motors Itd. Mumbai sent 250 Tata Vans to Sanghi Bros. Indore for sale on consignment. The ownership will remain with-
1. Tata Motors 1td Mumbai ,
2. Sanghi Bros. Indore

Options :

1. ¥ Only 1

2. % Only 2

3. ¥ Both 1 and 2
4. ® Neither 1 nor 2


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

Question Number : 164 Question Id : 5038908118 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TeT Hied for. Gas 3 250 <TeT o &1 WY W okt & e e sied §aR Yot | misal &1 wanfie ford & urg 3e-
1. TTeT Hiey faftes gas

2. e 96y §aR

Options :

1. ¥ $Had |

2. % Had 2

3. % gl 1 3R 2

4. % A1 3RATE 2

Question Number : 165 Question Id : 5038908119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who suggested higher payment for those workers who produced standard output or more and lower payment to those who fail to produce
standard output?

Options :

1. ¥ L.H. Henry
2. % Elton Mayo
3. ¥ F.W. Taylor
4. ¥ Henri Fayol

Question Number : 165 Question Id : 5038908119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forem ima faa fos St umanfid Sare a1 SO Sifiid IdTe B, 36 Sl ax o SR S YA &1 § HH IATe B, 36 (-9 ax I
oG dt SR

Options :

1. % Taud g8

2. % T T4

3. ¢ U, S&Y, TR
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4. % g1 B

Question Number : 166 Question Id : 5038908120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Henri Fayol has listed  principles of management.
Options :

1.¥ 14

2. % 18

3. % 24

4. % 27

Question Number : 166 Question Id : 5038908120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Thaid A UeeE & Rrgidl &' gelies fean gl
Options :

1.¥ 14

2. % 18

3. % 24

4. % 27

Question Number : 167 Question Id : 5038908121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Receipts and Payment account is a summary of:
Options :

1. ® Debit and credit balance of ledger accounts
2. ¥ Cash receipts and payments

3. # Incomes and expenditures

4. % Balance of assets and liabilities
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Question Number : 167 Question Id : 5038908121 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad & @ wifey 3iR Yrrar QT fbgeT IRiw 82
Options :

1. % QTAT1 oRET B Sfae 3R Hise aaid

2. ¢ AHS WKt SR Y=

3. % AR T

4. % HORy SR GG HT Fga

Question Number : 168 Question Id : 5038908122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

This type of plan determine the sequence of any work performance. Name it.
Options :

1. ® objective

2. ® strategy

3. # policy

4. ¥ procedure

Question Number : 168 Question Id : 5038908122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T UHR &1 Ao oot Hf 1 Fere &1 1 FReid ol 81 1 9ad133-
Options :

1% 3E=Y

2. % UM

3. % Hifd

4. ¥ ST O

Question Number : 169 Question Id : 5038908123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Which is not the function of management from the following-
Options :

1. # Planning

2. % Staffing

3. ¥ Co operating

4. ® Controlling

Question Number : 169 Question Id : 5038908123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifed & 9 $19-91 YdtH &1 H1 g o7
Options :

1. % o

2. % It

3. ¢ g "I

4. % fgE0r

Question Number : 170 Question Id : 5038908124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Policy formulation is the function of.
Options :

1. ¥ Top level managers

2. % Middle level managers

3. % Lower level managers

4. % Supervisor

Question Number : 170 Question Id : 5038908124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. ¢ XY TR & USUD
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4. % gUded

Question Number : 171 Question Id : 5038908125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Co ordination is the-

Options :

1. #® Function of management

2. ¥ The essence of management

3. # An objectives of management

4. ® Elements of management

Question Number : 171 Question Id : 5038908125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
- 1 82

Options :

1. % JdeH B B

2. ¢ JdYF BT IR

3. % YU D1 Uh I

4. % U§YT & dd

Question Number : 172 Question Id : 5038908126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An organization XYZ gives training to only those students who secured 75 percent in their exams. What type of plan is it?
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Options :

1. * Programme

2. % Rule
3. % Budget
4. ¥ Policy

Question Number : 172 Question Id : 5038908126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS TS XYZ Had 3 BT B UiRreqor &ar § i~ sroet wdien & 75 ufoerd sic e fbu &1 98 fordy v o1 e 32
Options :

1. % HRHH

2. % fg|

3. % duic

4.« Hifd

Question Number : 173 Question Id : 5038908127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the number of subordinates who can be managed by a superior.
Options :
1. #® Functional structure
2. % Span of management
3. # Divisional structure

4. ® Organizational structure

Question Number : 173 Question Id : 5038908127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
et B T § fT8 T ¥ gRT Uad fasar S wadn g |

Options :
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Question Number : 174 Question Id : 5038908128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Centralization refers to -

Options :

1. ¢ Retention of decision making power by the top management
2. # Dispersal of decision making authority

3. # Creating of divisions as profit centers

4. ® QOpening new centers or branches

Question Number : 174 Question Id : 5038908128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & O o et &l Hehid wrar g
Options :

1. Y gl gRT (0 o &1 Wik b1 gfdemor
2. % fyofa o1 & SR &1 Hhama

3. % fSIoHI Bl oY el &b =0 H &=

4. % TS T IRATY GieHT

Question Number : 175 Question Id : 5038908129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A network of social relationship that arise spontaneously due to interaction at work is called-
Options :

1. # Formal organization
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2. ¥ Informal organization

3% Delegation
[=]

4. ® Decentralization

Question Number : 175 Question Id : 5038908129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS et BT I "edd ol B &b GRIM IR bl & HRUT Wa: I Bidl &, IT Heardl o-
Options :

1. % SR e

2. ¢ ARG AT

3. % glaffdsa

4. % fqdeichRul

Question Number : 176 Question Id : 5038908130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is the matrix which is helpful to make strategic choice in respect of internal and external factors to know the growth of the project. What is it?
Options :

1. # G.E. nine cell Matrix

2. ¥ BCG Matrix

3. % Directional Policy Matrix

4. ¥ Hofar’s Product market evaluation Matrix

Question Number : 176 Question Id : 5038908130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gg B § off aRTSHT & I &I S & g siides 3R a8t SRS & et § U [dded 51 & JeTad ¢ | I8 182
Options :

1. % St 3. A qa Afew

2. ¢ SRtoh Afea
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Question Number : 177 Question Id : 5038908131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the company has no ownership and control in that business and is engaged in complete selling of a unit.
Options :

1. ¥ Expansion

2. % Mergers

3. ¥ Divestment

4. ® Diversification

Question Number : 177 Question Id : 5038908131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
H Ul 1 I TG H DS Wit 3R G0 e 81§ 3R 98 Teh 3b1s 1 guf et # @l g8 il 21
Options :
1. # faxdR
2. % faerg
3.  fafdw
4. % fafaeieor

Question Number : 178 Question Id : 5038908132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

State which of the following is not the merit of strategic alliance?
Options :

1. ¥ Reduce financial risk and cost of research

2. % Developing and defusing technology

3. % Reducing manufacturing costs
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4. ¥ Sharing business secrets

Question Number : 178 Question Id : 5038908132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaied & @ & T Fifae Teees & argdT gl 82
Options :

1. % fo<ita SN SR SFIHeT™ 1 ArTd &1 &H Bl

2. % TNt &1 fadmr SR fAfesg S

3. % fAfAT0r AT & HH HAl

4. ¢ YUR g HIHT PR

Question Number : 179 Question Id : 5038908133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a feature of formal organization?
Options :

1. # Itis created by top management

2. % It is managed by officially appointed managers

3. % Managers have formal authority

4. ¥ Its size and membership changes from time to time

Question Number : 179 Question Id : 5038908133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o 9 SH-91 Su=iRe W16 &t faRvdl Tg! 67
Options :

1. % Ig IR T gRT SR 1 §

2. % g MABRD dR W Fged Ysed! gRT wsiid foar o g
3. % YYD & U SNURG GR §

4. 7 D] PR 3‘ﬁ? o dI YHI-JHY U GIQQ'k‘InI QES(‘IGI %
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Question Number : 180 Question Id : SD38908134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following acts helps in decision making to choose the best alternative among the available resources?
Options :

1. ¥ Minimization

2. # Equalization

3. ¥ Optimization

4. ¥ Maximization

Question Number : 180 Question Id : 5038908134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B a1 3T Iudsy STy Q gafad ey g | Fofg a & e drarg?
Options :

1. % DR

2. % FHMT

3. ¢ 3Jpd

4. % 3ffhdH

Discipline5
Group Number : 10
Group Id : 503890191
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247

Discipline5
Section Id : 503890315
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890378
Question Shuffling Allowed : Yes

GET IT ON

Google Play

Question Number : 181 Question Id : 5038908135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Regression analysis is a technique that determines

Options :

1. ¥ The mathematical relation between a dependent variable and one or more explanatory variables.
2. #® The mathematical relation between a dependent and a explanatory variable.

3. # The mathematical relation between two dependent and an explanatory variable.

4. ® The mathematical relation between one or more dependent and explanatory variable.

Question Number : 181 Question Id : 5038908135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIRUEE ARG NURGARCR I G| fFreia =l 5
Options :

1. ¥ ST TR 3R U AT 3P ARATHD TR P §1d ORI Hae |
2. % TH 3T 3R U HRATHS TR b i 0T Faied |
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Question Number : 182 Question Id : 5038908136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Which of the following are parts of a system. Choose the correct code.

1. Computer
2. Input

3. Output

4. System

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :
1.1,2,3 only
2.2,3,4 only
3.1, 4 only
4.1,2,3,4

Question Number : 182 Question Id : 5038908136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fgfifed o @ -9 Te Red & YR 8| 98t dis T |

1. PR
2.%19¢

3. 33CYC
4. JUITit

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :
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1. %ad 1,2, 3
2 a2 3 4

=5 o5 1

3.%dd 1, 4

4.1,2,3,4

Question Number : 183 Question Id : 5038908137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is law of demand?

Options :

1. ¥ The higher the price, the lower the demand , the lower the price, the higher the demand.
2. % The higher the price, the higher the demand. The lower the price, the lower the demand.
3. # With the change in price, no effect on demand.

4. ® Price and demand are not interdependent

Question Number : 183 Question Id : 5038908137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT & o § o aread 82

Options :

1. ¢ DiHd fora e 8T, AT a1 o1 BH gRIT, HIHd ford-! &H R, HIT 3d-il ol 3d grit
2. % oA fordT it gRT, AT Sa-il ol ¥ SRIt S oIl HH gRIT, AT 3d-1 6! HH gl
3. % HIAd H dedg J A R Bl 3RR ol TS

4. % PG R A TH gk W AR 78 o1 §

Question Number : 184 Question Id : 5038908138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A curve which shows the sum of the quantities that all consumers in particular market would be willing and able to purchase at various prices is
called-

Options :
1. # Supply curve
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2. % Line curve
3 % Demand curve

4. ® Demand and Supply curve

Question Number : 184 Question Id : 5038908138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH b ST 3 AT BT TR SR § STal IuHiadT SR H fafi Sirdl R Wlien & 353 3R We 8171, 39 ab & 71 Had 8?2
Options :

1. ® MY ah

2. % @1 TP

3.« HETdeh

4. % AT 3R 3MYfd I

Question Number : 185 Question Id : 5038908139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ina Distribution, the value of the arithmetic mean is the highest.
Options :

1. ¥ Positive

2. % Negative

3. ¥ Normal

4. # Both positive and negative

Question Number : 185 Question Id : 5038908139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH faeRor &, 3iepTircia Hreg o1 A Tad 3ifi B 2|
Options :

1. ¥ JORIHD

2. % qORIHD
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Question Number : 186 Question Id : 5038908140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Factors to be considered while taking a financing decision-
1. Cost of fund

2. Risk involved

3. Cash flow

Options :

1. % 1 &2 only
2. % 2 & 3 only
3. % 1 &3 only
4.9 1,2&3

Question Number : 186 Question Id : 5038908140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faxiia Aol o v faaR feu oM ard HR®-
1. ®IY & AT

2. SifeH

3. DS UdIig

Options :

1. % Pad 1 3R 2
2. % Had 2 3R 3
3. % PHad | 3R 3
4.4 1,233

Question Number : 187 Question Id : 5038908141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Who defines statistics as “the collection, presentation, analysis and interpretation of numerical data.”

Options :

1. # Selligrnan

2. ¥ Croxton & Cowden
3. % Bowley

4. % Hennery

Question Number : 187 Question Id : 5038908141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Qfera

2. ¢ Hiage 3R

B3

3. % 93

4. % gRY

Question Number : 188 Question Id : 5038908142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Statistics helps in testing the laws of other sciences.” Which statement from the following explain it precisely?

Options :

1. ¥ Statistical methods are extremely useful in formulating and testing hypotheses and for the development of new theories of other science.
2. # Statistical methods are extremely useful to change the theories of other science.

3. # Statistical methods are rarely used to interpret the data of other sciences

4. % No statement is precise and convenient.

Question Number : 188 Question Id : 5038908142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iR 3= fagHl & FaHT 1 URieoT B H Aeg wdl ¢ 1" FufeiRad & § &9 15U 39! Il AR Bl g2



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

Options :

|« Ty R ufiee T = 3R URIe0T A 3R 3 fag & ¢ Rigial & fae & e aeia Ima g

2. % 3y fayH & Rigidl &1 seaq & foru wifsae g fafiat srdd Suanfi g1
3. % 3 fagl & ST ) SarsH HA & forw ifsges 1 fafra o1 Iuan wmae g i fvar siar @
4. % PIg Wt Sy TP 3R YAUeH® 761 g

Question Number : 189 Question Id : 5038908143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
mean is the reciprocal of arithmetic mean.
Options :
1. ¥ Harmonic mean
2. % Geometric mean
3. % Weighted mean

4. % Average mean

Question Number : 189 Question Id : 5038908143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SO AT HT FShH 8 |

Options :

1. ¢ IS H1eA

2. % IHCE |1y

3. % YIRd A1y

4. % 3rgd HIHA

Question Number : 190 Question Id : 5038908144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fixed capital is not required for acquiring
Options :
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1. #® Office equipment
2% Plant and Machinerv

3. % Land and buildings
4. ¥ Paying salaries

Question Number : 190 Question Id : 5038908144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T B o fore Ff3d doft &1 sa=adhdr 781 o |
Options :
1. % TRR & IYBI
2. % T R T=iH
3. % SHH SR ARG
4. ¢ JA G

Question Number : 191 Question Id : 5038908145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one from the following is not included in direct employee cost?
Options :

1. # Operator of a machine

2. % Technician

3. # Supervisor

4. ¥ Analyst

Question Number : 191 Question Id : 5038908145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEfIRed & ¥ 319-91 Ydg HHIRI aFTd | =M e 672
Options :

1. % A9 &1 3Rex
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2. % qhHIbidg
3% dam

4. ¢ fazciv®

Question Number : 192 Question Id : 5038908146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A firm having high inventory turnover rate needs  working capital.
Options :

1. ¥ more

2. ¥ less

3. # Working capital not required

4. ® working capital cannot be judged with inventory turnover rate

Question Number : 192 Question Id : 5038908146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 3-a¢) TR R ATl Ueh T H b CAUNINR I A R S Ca R
Options :

1. % lal

2. ¥ DH

3. % Hrfefie] Goft b1 SHTaLaehar Te] Bl &

4. % BRI Yol Bl §dCT SMgd aR F 3Mih g Hebdl &

Question Number : 193 Question Id : 5038908147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is considered as normal loss of material?
Options :

1. # Pilferage

2. # Loss due to accident
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3. % Careless handling of material

4 F\mpm‘ﬂﬁnn of Petrol

Question Number : 193 Question Id : 5038908147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoied & 9 ford Trlt &1 W= I |/ STl 82
Options :

1. % IR

2. % gHeAl & BRI JHAH

3. % Yt 1 AURdTg e

4. ¢ UCIQ 1 A0l

Question Number : 194 Question Id : 5038908148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a factory guaranteed wages at the rate of Rs. 2.80 per hour are paid in 48 hour week. By time and motion study it is estimated that to
manufacture one unit of a particular product 20 minutes are taken. The time allowed is increased by 25 percent. During the week A produced 180
units of the product. Calculate his wages as per time rate method.

Options :

1. ¥ Rs. 1344
2. % Rs. 1484
3. % Rs. 150
4. % Rs. 130.4

Question Number : 194 Question Id : 5038908148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HREM H 30 B & I AoIg! Twrg H 48 °e H 2.80 IUY Ufd ©S & e ¥ YT a1 Sl § | T80 3R T 37609+ 9§ I8 A
T ST | o foret faiy Sare &t Uab 3ab1s o FAT0r 7 20 e @1d 81 SigHd 99g & 25 UfaRd &1 3fG &1 718 8| I8 & GRIF A 3
180 GIIC ITG BT ITG fob T | THY &R UGHdl o STHR IHb! Holg! bl ITUMHT DY |

Options :
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Question Number : 195 Question Id : 5038908149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify which is not the software used in computerized accounting—
Options :

1. % Tally

2. #® Cash manager

3. % Real Books

4. ¥ Best book

Question Number : 195 Question Id : 5038908149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifad & @ ugem b Srgeded dRaie § Tad SItcdR HH-97 el 8-
Options :

1. % oot

2. % HY TR

3. % Rgd g

4. ¢ S gD

Question Number : 196 Question Id : 5038908150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In double entry system, the accounting equation =

Note: For this question, dlscrepancy 1s found in question/answer. So,this
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question 1s 1gnored for all candidates.

Options :

1. Capital + Liabilities = Assets
2. Liabilities = Capital + Assets
3. Capital = Assets - Liabilities
4. Assets + Liabilities = Capital

Question Number : 196 Question Id : 5038908150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fesfen UfafS gumel # ciich = GHiehom &l
Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Gofl + &TiRied = guf

2. IR = Yol + Ui

3. Goil = 4ufx - gl

4. GO + GIRI = gl

Question Number : 197 Question Id : 5038908151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

State which job computer does not do for its users in accounting?
Options :

1. # Preparation of trial balance, P&L a/c and balance sheet

2. % Stock valuation

3. % Pay roll analysis

4. ¥ Maintaining personal diary of users


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

Question Number : 197 Question Id : 5038908151 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed oRaie B HeR 3u SUTNTHATS] & ot B 1 SR 78] HRal 82
Options :

1. % RY-YI&O1-U=, A BT T 3R g U TR BT

2. % Wl i

3. % 9o+ U fa=awor

4. ¢ IUTNTHATS B! TG ST P ST HRAT

Question Number : 198 Question Id : 5038908152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A company X, produces washing powder, advertises achievements to the consumers and clarify any misconceptions or doubts. What is the
objective of company behind such advertisement?

1. Introduction of new product

2. Create and Enhance goodwill of the firm

Options :

1. # 1 only

2. ¥ 2 only

3. % Both 1 and 2
4. % Neither 1 nor 2

Question Number : 198 Question Id : 5038908152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HU! T, TR USSR BT IdTGT Bl 7, STHITTSH BT Suaiel o1 A Hat g 3R IR fbeft i TerawreHt a1 ¥eg & Wy
B 81 39 RE & AT & Ui Hu &1 ITT FT1 82

1. 94 IS T UR=Y

2. Tl I SATTI BT AT T I9H gig BT

Options :

1. % &Had 1

2.« Had 2
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Question Number : 199 Question Id : 5038908153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“It essentially scrambles the information so as to make its interpretation extremely difficult." What does 'it' stand for?
Options :

1. ¥ Encryption

2. % Data vault

3. # Data audit

4. % Password

Question Number : 199 Question Id : 5038908153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g AR =Y J THBIT BT AU BT § dife SHh ! RSN 3 bic gl oMu " Ry H A I8 1 89
Options :

1. ¢ UhRH

2. % g dle

3. % ST 8fifge

4. % UdS

Question Number : 200 Question Id : 5038908154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For which of the following products, advertising through newspaper is not considered to be appropriate?
Options :

1. % TV

2. # Banking

3. ¥ Products used by specific professionals
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4. ® Soap

Question Number : 200 Question Id : 5038908154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & 3 g Iare & forw IR vz & Arend T = &1 Ifa =78) A S 82

Options :
1. % dat
2. % dfdh
3. ORIy ot (URIaRY) gRT TN fohu OF aTdt SdTg
4, % Hig-d
Discipline6
Group Number : 11
Group Id : 503890192
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline6
Section Id : 503890316
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20
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Section Marks : 20

iview and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890379
Question Shuffling Allowed : Yes

Question Number : 201 Question Id : 5038908155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arrange in correct order the process of selling a product by a saleman-
1. Prospecting

2. Pre- approach

3. Approach

4. Presentation and demonstration

5. Follow up or after sale service

6. Action or ending the process of sale

7. Answering the queries

Options :

1. ¥ 1234765
2. % 1237654
3. % 1347652
4. % 1543276

Question Number : 201 Question Id : 5038908155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
w@ﬁ%mmaﬁﬁmﬁﬂﬁwﬁmﬁmﬁ-
1. ga&ur

2. 7d ef¥I

3'%@%%

4.

5. 3fIach a1 foh! & a1G 4l

6. faept o Ufear &1 fopar=ad &A1 a1 IH HAT
7. RipT3M T MU T TFTHROT TT FHTYH
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Options :
L ¢ 1234765

2. % 1237654
3. ® 1347652
4. % 1543276

Question Number : 202 Question Id : 5038908156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following kinds of asset is Oil-Well?
Options :

1. # Fixed assets

2. ¥ Wasted Assets

3. % Liquid Assets

4. % Intangible Assets

Question Number : 202 Question Id : 5038908156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

sifere- 3 Prafiia & @ v vR ) TuRi 22
Options :

1. % R dukwr

2. ¢ Y Huf

3. % R Ui

4. % 3{d ¥ufq

Question Number : 203 Question Id : 5038908157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are some essential features of Law. But one is incorrect, Identify it and tick the option.
Options :

1. ¥ Law is rule of civil conduct.
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. % Law can be portrayed as the princip|es and regulations established in a community by some autHority and applicable to its people.

gz agaala A A e o] oo T
T Loavw 1> 1o O T ot oTarConauct:

2
3v:?T
4

. % Law always related to human actions.

Question Number : 203 Question Id : 5038908157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT D HO HTRIS (IR -7 § 71 &1 Afh T 70 8, 30 I B |

Options :

1. % BT ARG TR0 & AgH 5|

2. % B P! fpddl Ter # farsht onfdresor gRT =1ftd Ryl 8k fafemi & wu § fafd foear o 9edr § $ik g8 @l R ar g gl
3. ¢ BT UGS SR ST AgA B

4. % BT ORI AFAIT BT O Fafed gial g

Question Number : 204 Question Id : 5038908158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who stated that ‘A contract is an agreement, creating and defining the obligation between parties.'?
Options :

1. ® Sir William Anson

2. ¥ Salmond

3. # Fedrick Pollock

4. ® Robinson

Question Number : 204 Question Id : 5038908158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T8 HY [ wel b T e Th THIT 5, S UIfcadl & oiid qIiiied ol ST 3R GRHIT e g2
Options :

1. * IR fafergm o=

2. ¢ gIaHs (AHS)
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3. % ThegR® gids
4% e

Question Number : 205 Question Id : 5038908159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“ consists of an offer by one party and its acceptance by the other.” Fill in the blank by selecting any one option given below-
Options :

1. # Contract

2. #% Obligation

3. ¥ Agreement

4. % Both Contract and Obligation

Question Number : 205 Question Id : 5038908159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

« T U U8 GRT U U9 3R g% U8 GRT 3! WIgicl RMHd gt & |7 1 fau T8 fordht U fasmed o) g Rad
R &1 gfd B |

Options :

1. % 3fJdY

2. % TG (Fdad)

3. ¢ qEIT

4. % ISy 3R A &l

Question Number : 206 Question Id : 5038908160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following examples is the customer also the consumer?
1. X buys a shirt and gifts it to his friend Y
2. A buys a toothpaste, which is used by A himself, his wife B and daughter C.

Options :
1. % Only 1
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2. % Only 2
3 % RBothland?

4. ® Neither 1 nor 2

Question Number : 206 Question Id : 5038908160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa o § fog I § uee Hf IuHiedr g2

1. X Uh HHIS Tledl § 3R 30 i v 3 SUgR # ST 8|

2. A Udh gYURE Wiedl 7, FoIeT SUaT A W4, I9®! Ud! B 3R Tl € Hd &
Options :

1. % $ad 1|

2. ¥ Had 2

3. % [ 3R 2 GHl

4. % AT 1ATSI2

Question Number : 207 Question Id : 5038908161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who said about products, “Product is a set of tangible and intangible attributes including packaging, colour, price, manufacturer’s prestige,
retailer’s prestige and manufacturer’s and retailer’s services which buyer may accept as offering satisfaction of wants and services”?

Options :

1. % William J. Stanton
2. ® Michael Etzel

3. # Charles Futrell

4. ® Jerome McCarthy

Question Number : 207 Question Id : 5038908161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I & IR H forem g1 8 1%, "ITe F dIrcqd Teh ohdl GRT {0 SHTaRISH 13 U9 Tarsfl &1 IS 8 Widpd 3 o 9 S fa=wdrsf &
T I § o 3R, 3, 7o, FATar 9 Beax gt &1 URe Td At giRid g
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Options :
| Aferm & eq

2. % TEHd Ueuid
3. % gred pod!
4. % SR AHTRA

Question Number : 208 Question Id : 5038908162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who said that “Marketing Mix is the set of controllable variables that the firm can use to influence the buyer’s response”?
Options :

1. ¥ Philip Kotler

2. % Kevin Lane Keller

3. # Nancy Lee

4. ® Peter Drucker

Question Number : 208 Question Id : 5038908162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forem FaT i »fauue farsor Feafia =i &1 99g B ST Suan v WiieR @ ufaftsar &1 uHfad @3 & g & gt 82
Options :

1. ¢ iy dlcer

2. % DA o HeR

3. % J=f

4. % leR IR

Question Number : 209 Question Id : 5038908163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year was the National Consumer Disputes Redressal Commission formed?
Options :


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

1. % 1988
2 _# 1080

3. %1990
4. % 1991

Question Number : 209 Question Id : 5038908163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS FUHIeT faare Fuer SmaT ford o # wTfie fosam T A
Options :

1. ¥ 1988

2. %1989

3. %1990

4. % 1991

Question Number : 210 Question Id : 5038908164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the Consumer Protecton Act, 1986, who out of the following persons can file a complaint?
1. A consumer

2. the Central or any State Government

3. Legal heir or representative in case of death of a consumer.

Options :

1. # Only 1 and 2
2. % Only 2 and 3
3. % Only 1 and 3
4.% 1,2and 3

Question Number : 210 Question Id : 5038908164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JUHTIT TR HTAFTH, 1986 & 3idTfd DI afdd FRIprad of BT b 82
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1. STHaT
2. HERT YT B Hi I WHR

3. Al USRI DI TG 81 718 € a1 SUD BT SIRIUBRT 3yal ufafAfd
Options :

1. ® Pad 1 3R 2

2. % PHad 2 3R 3

3. % Had 1 3R 3

4.4 1,2 3R 3

Question Number : 211 Question Id : 5038908165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Medical facility provided to the employee for his family in a hospital, nursing home by the employer is-
Options :

1. # Fully exempted from tax

2. ¥ Partially exempted from tax

3. % Taxable in any case

4. % Partially taxable

Question Number : 211 Question Id : 5038908165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e gRT 3RUdTd, AR 81 H HHAR! 1 b URAR & ol e &1 o arell feifdrear gfaer g-
Options :

1. % g e 9 R 4 gad

2. ¢ RIS FYF R I God

3. % fodt vl wre § Hr A

4. % IS FUY PR IY

Question Number : 212 Question Id : 5038908166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
X purchased goods worth Rs.15000 from|Y in cash and made payment through his Bank account . Th¢ accountant wrongly recorded it in the

Sales Book treating it as a credit sale. At the time of rectification, what will be the entries in the following account?
1. Bank account will be credited by Rs.15000

2. Bank account will be debited by Rs.15000.

3. Sales account will be debited by Rs.15000

4. Y's account will be credited by Rs.15000

5. Y's account will be credited by Rs.30000

6. Purchase account will be debited by Rs.15000

Choose the correct code.

Options :

1. % 1 and 3 only

2. % 6 and 4 only

3. # 2,3 and 5 only
4. % 1,3, 4 and 6 only

Question Number : 212 Question Id : 5038908166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

XY ¥ 15000 FU BT HHM Tha H WRIaT 3R U sleb Wi & HILH H YA b a1 I[RaTbR A 38 Teid dicb 9 B foshl & &0 H
I g% T gol fordT | GUR o 999, fafafad wrd § gfafyar & gife

1. § @ ® 15000 3T STH I

2. §% @A ¥ 15000 U Sfde g

3. fpt WA A 15000 ST Sfse BN

4.Y & @Id H 15000 2T STHT i

5.Y & @rd H 30000 3T SHI i

6. WIS W ¥ 15000 Y Sfde fhT Sa|

Tl ple |
Options :

1. % Had 1 3R 3
2. % Had 6 3R 4
3. % Had2,3 3R 5
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4. HAA1,3,4 3R 6

Question Number : 213 Question Id : 5038908167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following types of accounts is/are generally balanced?
1. Real account

2. Personal Account

Choose the correct code.

Options :

1. # 1 only

2. % 2 only

3. % Both 1 and 2
4. % Neither 1 nor 2

Question Number : 213 Question Id : 5038908167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofaRad & 9 oF o dR IR Agfad WTd /8?2

1. aRald® @1 (Rad 3/e1de)
2. AladTd dIdl (U< 31d°|\'§d)

SHEISER]

Options :

1. % &Had |

2. % Had 2

3. ¢ 1 3R 2 &M

4. % A1 3RATE 2

Question Number : 214 Question Id : 5038908168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Miss Isha has 1000, 10 percent debentures of X Itd. Acquired on 17/04/2009 for Rs. 120 each. As on 1/02/2021, she sold such assets for
Rs.1,45,000. Brokerage (@ "2 percent of sale value was paid by her. Complete capital gain of miss Isha.
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Options :
1. % Rs.25000

2. % Rs.25520
3. # Rs.26000
4. ¥ Rs.24275

Question Number : 214 Question Id : 5038908168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g S oy x faifies & 1000, 10 Ufa=ra fEa=R € 17/04/2000 BT 120 TUT AP & f8qme A farw| 1/02/2021 &Y, 391 Jufl &1 1,45,000
FUY A ¥91| IGD GRT S @ 4 UFA=Id et God o1 Y1 foan 1 7| i $=11 = fpa o fiee 3 fasa

Options :

1. % 25000 ST
2. % 25520 30Y
3. % 26000 3T
4. ¥ 24275 %04

Question Number : 215 Question Id : 5038908169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X purchased goods worth Rs.5000 from Y on credit. The accountant wrongly recorded it in the Sales Book. At the time of rectification, the
account of Y.

Options :

1. #® Will be debited by Rs.5000
2. % Will be credited by Rs. 5000
3. # Will be debited by Rs.10000
4. ¥ Will be credited by Rs.10000

Question Number : 215 Question Id : 5038908169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

XY ¥ B (HT) W 5000 TIF HT MM WRiaT | THHR - 3 7Tad dRid I [oeh! da (A §) H Gol R [T GUR & T Y &
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LCIGREE

Options :

1. % 5000 3YY BT Sfac AT
2. ® 5000 TYY BT hiSc AT
3. % 10000 TUY &I Sfac gRT
4. ¥ 10,000 99 &1 hise gRT

Question Number : 216 Question Id : 5038908170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first commercial bank in India with limited liability managed by Indians was-
Options :

1. #® Punjab National Bank

2. % Allahabad Bank

3. ¥ Oudh commercial Bank

4. ® Alliance Bank

Question Number : 216 Question Id : 5038908170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RO gRT Uaiferd i Sadt arel YR &1 ugar aifvfodsd s ol-
Options :

1. % USE A%Fd P

2. % gAEIEIG 8

3. ¢ 3NY (3aY) HHRIT o

4. % UARIY §F

Question Number : 217 Question Id : 5038908171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the maximum number of Deputy Governors that RBI can have?
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Options :
L. #3

2.¥ 4
3.%5
4. % 6

Question Number : 217 Question Id : 5038908171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RENSATS & UM SHihaH frar FfEP! Ta-R 81 Fobd 82
Options :

1. %3

2.9¥ 4

3. %5

4. % 6

Question Number : 218 Question Id : 5038908172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is a banking service provided by a group of networked bank branches where customers may access their bank accounts and perform
basic transactions from any of the member branch office.

Options :

1. % ECS debit

2. # Tele banking
3. ¥ Core banking
4. % RTGS

Question Number : 218 Question Id : 5038908172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

~eqd aTell sl TSl & TG T UG I S aTeil U ST Wall & ST61 T6 310 e WTell deb Ugd Hahdl § SR fopt o
o Al HTAfad § gHard! aed & Jahd g
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Options :

1 % vy Sfge

2. % el dfebT
3. ¢ HR dfbT
4. ® IREINITH

Question Number : 219 Question Id : 5038908173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A ship carrying orange was insured against losses arising from accident. The ship reached the port safely and there was a delay in unloading the
oranges from the ship. As a result, the oranges got spoilt. The insurer did not pay any compensation for the loss because the proximate cause of
loss was delay in unloading and not an accident during the voyage. This displays -

Options :

1. # Principle of Mitigation

2. ¥ Principle of Causa-proxima
3. # Principle of Contribution
4. % Principle of Indemnity

Question Number : 219 Question Id : 5038908173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Y I T SIETS BT SHT gUSHT &b BRI 81 aTcl! g1 & foTd sHrram 711 4T | ST8TST df §6xiTTe WR IR Ugd T TR ST8TS § okl &l
SARA T ¢ B &} 1 heaey Hax TR0 81 ¢ 1 39 (U & S S gRT B &ffcgfd ol & St Fifds Yax WRId g BT HRUT
Ih! IARA H gs o3t 2t 7 b gelen| gg ewifar 8:

Options :

1. % A BT Rigid

2.  HIILUIRIHT (BT & FevedH RN H1 Rigid

3. % YT BT Rigid

4. % gifayfd &1 fRygid

Question Number : 220 Question Id : 5038908174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
State which term is not used in insurance process?

Options :

1. ® Sum assured
2. % Premium

3. ¢ Bills

4. ® Proposer

Question Number : 220 Question Id : 5038908174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad & @ Siar ufsear & forg eg &1 wanT 78} fovar Sirar g2

Options :
1. % Pl AR
2. % HiffgH
3. ¢ fod
4. ® TAdD
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Question Number : 221 Question Id : 5038908175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation :

Vertical

Correct Marks : 1 Wrong Marks : 0.25
is paid by the insured to issuer in consideration to insurance contract.

Options :

1. ¥ Premium

2. % Cheque
3. # Deposit

4. ¥ Discount

Question Number : 221 Question Id : 5038908175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation :

Vertical

Correct Marks : 1 Wrong Marks : 0.25

Options :
1.« Hifee
2. % db
3. ® GHT
4, % @c

BT YA STHTYRS GRT STHT 38 & MUR TR SIRIdhd! &1 foar STar g |
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Question Number : 222 Question Id : 538908176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following functions is not treated as primary function of insurance?
Options :

1. # Insurance provides certainty of payment

2. ¥ Insurance provides capital

3. # Insurance provides protection against the probable chance of loss

4. # Insurance helps in Risk — sharing towards uncertainty

Question Number : 222 Question Id : 5038908176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed ¥ @ & 91 o St & mufie o1 T2 2
Options :

1. % ST Y &) RiEad yeF e g

2. ¢ ST Yol UM a8

3. % SHT §I B GHITIT FHTET J GR&M USH DT §

4. % ST YA DT 3R SNRIH 1M 3 H Hag HRal §

Question Number : 223 Question Id : 5038908177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A' gets injured in a road accident, due to reckless driving of a third party B. What will the insurance company, that has insured A's car, do in this
case under the principle of subrogation?

Options :

1. ¥ It will compensate the loss of A and can sue B to recover the money paid as claim

2. # Insurance company will not compensate the loss of A

3. % It will compensate the loss of A but cannot sue B to recover the money paid as claim

4. ® Insurance company will compensate to A only after recovering loss from B
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Question Number : 223 Question Id : 5038908177 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A' ISP gHeAT T AR Y&l 'B' &1 ATORATe] § ST & HRUI O1ad 1 Siidl 8 | 39 A H, A &1 TS! &1 o H1 B arelt ST et
TIRITA o Riegiic o T8 oI 2

Options :

1. ¥ T8 A & JHU ! HRUTS BT 3R A1 & FY H YT fhU 7Y 89 &1 IYeH & o B TR HSHT B Gohdl o

2. % AT HUA A F THAM Pt URUTS o] HN

3. % UG A P JHUM B UIUTS BT Wb GId & =0 T YT BT T U BT IYeh & T B WR HGHT -Tol HR bl
4. % B Y IHIM DI IYall o d1G ol STHT DU A BT G3{TIST Gl

Question Number : 224 Question Id : 5038908178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is the place for transacting business where clerical and administrative functions are carried out to co ordinate and control the activities of the
organization. What is it called ?

Options :

1. # Factory

2. % Warehouse
3. ¥ Office

4. ® Computer room

Question Number : 224 Question Id : 5038908178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ggouqﬂlq%H’dlcﬁWW%WW@W%W@TW%WW@TWMWW%Is“@ramﬁ?r
9

Options :

1. % HRYMI

2. % MY

3. ¢ HEITAd

4. % YR H
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Question Number : 225 Question Id : SD38908179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A firm earns 30 percent gross profit on sales. Cost of goods sold is Rs. 9,20,500. What was the sales?
Options :

1. # Rs. 27,60,000

2. # Rs. 2,76,000

3. ¥ Rs 1,31,500

4. ¥ Rs.13,15,000

Question Number : 225 Question Id : 5038908179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP A It TR 30 U= Tobd ary ifofd w5l 81 9 T8 J1d &1 AT 9,20,500 393 § 1 faep o ot
Options :

1. % 27,60,000 0

2. % 276,000 $YY

3. % 131,500 394

4. ¥ 13,15,000 30

Question Number : 226 Question Id : 5038908180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Net profit of a firm before charging manager's commission is Rs.2,86,000. Manager is entitled to a commission of 10 percent after charging such
commission. Which of the following is his commission?

Options :

1. ¥ Rs.26000
2. % Rs. 28600
3. % Rs.31777
4. % Rs.52000
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Question Number : 226 Question Id : 5038908180 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSt P HHIH Bl TTo] B Y Ugd U HH BI G ATH 2,86,000 F. § | TSUH TH IRE & HHIH B ATS] H= & a1¢ 10 YA &
HHRA BT gheR ¢ | FEfeiad § 3 S® HHIRA HH AT R?

Options :

1. ¢ 26000 3T
2. % 28600 3UY
3. % 31777 %00
4. % 52000 3T

Question Number : 227 Question Id : 5038908181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a principle of management given by Henry Fayol?
Options :

1. # Equity

2. # Unity of direction

3. ¥ Time study

4. % Order

Question Number : 227 Question Id : 5038908181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR & 9 SIF g1 Bhald gRI faa 71 Yeie &1 Rigid 7ol o2
Options :

1. % Sfepdt

2. % fERF UHdl (@t STt STaveRM)

3. ¥ A JHY

4. % 3G
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Question Number : 228 Question Id : 5038908182 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a company proposes, over telephone, to sell a flat to Mr.Raj, then this called
Options :

1. #® Implied offer

2. % Express offer

3. ¥ Specific offer

4. ® General offer

Question Number : 228 Question Id : 5038908182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AfE B SN o I B HAe I BT IRAE CABH R AN e, ANH ded gl
Options :

1. # fAfgd vRdra

2. % URIOY URTd

3. ¢ fafry g

4, % HHTY YXd19

Question Number : 229 Question Id : 5038908183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not true about Accounting software-Tally?
1. It is very simple to use and operate.

2. It is available only in desktop version.

3. It can prepare complete operating reports

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 3
4. % Only 3
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Question Number : 229 Question Id : 538908183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

kg AracddR-cat & IR H Fafafed 7 @ o 91 99 78l 82
1. SHHT SUANT 3R HATe HAT 9gd S g
2. U8 $HId ShHe ] TWH0 § Iudsy gl

3. U8 T3 {ToRfET RUld daR o= g @
Options :

1. % &Had |

2.« Had 2

3. % Had 1 3R 3

4. % $Had 3

Question Number : 230 Question Id : 5038908184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are economic resources of an enterprise that can be usefully expressed in monetary terms.
Options :
1. ® Entity
2. % Transaction
3. ¥ Assets
4. ® Liabilities

Question Number : 230 Question Id : 5038908184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP ITH & 3P Ta1eA ¢ fore Aifad deH & Iwantt &0 I e fodr o 9ehdl ¢ |
Options :
1. % 3P
2. % A -G
3. ¢ gigmfaar
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4. % qgdIq

Question Number : 231 Question Id : 5038908185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the following given statements identify which is not the function of promoter.
Options :

1. # Nomenclature

2. % To enter into preliminary contract with vendors

3. ¥ To make secret profits

4. % Arrangement of capital

Question Number : 231 Question Id : 5038908185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad fou e sy & § ugenfae f &F a1 yade &1 w1 T8l 7
Options :

1. ® ATHDRO

2. % faohrai & A1y URIHD et B & forg

3. ¢ Tt 1Y D AT

4. % GOl &l gawl

Question Number : 232 Question Id : 5038908186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a characteristic of Sole Proprietorship Form of Business Organisation?
Options :

1. #® The formation and operation of this form of business organisation does not involve any legal formalities
2. # The business unit does not have an entity separate from the owner

3. # There is no separation of ownership and management

4. ¥ The liability of the sole proprietor is limited
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Question Number : 232 Question Id : SD38908186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafafed & § SH-91 a6 & Tehd Wiitd Uus &) ARy 78 82

Options :

1. % Y I & YHR B! IO H Td I I H HH BT SHUATRG T 1 UTe B USdl §
2. % Y ATGNID TS BT 3T 319 WA I T 6] gidl

3. % 3T ARG e B U= g W 3eT-31eT Il 8idl &

4. ¥ UHHT HIfAD BT ST THd 8

Question Number : 233 Question Id : 5038908187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The main objective of motion study is

Options :

1. ¥ To eliminate unproductive movements

2. % To determine time required to do a job

3. # To study the rest interval given to the workers

4. ® To eliminate unnecessary diversity of work

Question Number : 233 Question Id : 5038908187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 37 &1 I 364 gl

Options :

1. ¢ 3fdIEd HI (HIHT) Bl TH DR & o

2. % 5t S &l HA & oy Iz Ty FHuiiRd @A & forg
3. % Y] ol fAU TTU Y 3fdRTd BT 31T HRAT

4, % HTH B! AGRAD (AT B! TH B & U
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Question Number : 234 Question Id : 5038908188 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following US Presidents, in his message to consumer had given six rights to consumers?
Options :

1. ¢ John F. Kennedy

2. % Barack Obama

3. # Jimmy Carter

4. ® Ronald Reagan

Question Number : 234 Question Id : 5038908188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R & forg 1y Ayufcl 3 JuHiartredl ol fad T 31U a1 H JuHiarell & ©: bR
Options :

1. ¢ Sl T el

2. % D S

3. % o 1R

4. % IS INH

Question Number : 235 Question Id : 5038908189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Distribution of free sample is a part of advertisement of goods hence, will be reduced while accounting for it.
Options :

1. #® Sales

2. ¥ Purchase

3. ® Opening stock

4. ® Cash

Question Number : 235 Question Id : 5038908189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
- S[ees T o1 faaR1 A1 & AT %1 Ue e 3, 3ufer 39 fore aRaies avd I Y Bl S0

Options :
1. % forcpt
2. ¥ Wl
3. % SRIND Kb
4, % qbq

Question Number : 236 Question Id : 5038908190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The classification of partners as sleeping and active partners is a classification based on -
Options :

1. ¢ the extent of participation

2. % the sharing of profits

3. % the liability

4. % the behaviour and conduct exhibited

Question Number : 236 Question Id : 5038908190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TrEIeR] &1 HHRE 3R Yh1g & =0 § Fiffepvr, forg R 3menfyd 82
Options :

1. ¢ YIaR & SMIYR IR

2. % AU T fTRIGRT & SMUR IR

3. % QAT & ATUR R

4. % IAGR 37YdT AR & YR TR

Question Number : 237 Question Id : 5038908191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Which of the following statements about the JHF form of Business Organisation is incorrect?

Options :

1. ¥ In JHF business, there must be at least three members in the family
2. % In JHF business outsiders are not allowed to become the coparcener
3. # All coparceners have equal share in the profits of the business.

4. % The karta's (senior-most member of the family) personal property can also be utilised to meet the business liability.

Question Number : 237 Question Id : 5038908191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e uRaR aur & SR # Fafafad o 9 &F 91 H3= Tad 82

Options :

1. ¢ Tgad feg URIR Sgaurd o ot uRaR o &1 I 4 i 9ax g4l gy

2. % WY g URAR’ SHIUN H URAR & 18R BT s Alad sHARE ol 61 Aol

3. % I & arH 7 gt gHaial &1 g9H R el 8|

4. % Hdl (ARAR & Te INF Ya) Bt Aol YUy B UGN TGS alfdd B! T B3 & fod t foar 1 9ear g |

Question Number : 238 Question Id : 5038908192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A company equity ownership is split up into numerous equal units, each such unit will be called as a-
Options :

1. # Debenture

2. % Profit

3. % Share

4. % Securities

Question Number : 238 Question Id : 5038908192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TH DU Sl WG B B G SHIsdl H [GUTIoTd foar ST &, T Ud® SPbTs DI HgT SWT-

Options :
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Question Number : 239 Question Id : 5038908193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the following particulars field out the value of goodwill as per annuity method. Capital employed Rs. 3,00,000 , Normal rate of return is 10
percent, present value of Rs. 1 for five years at 10 percent 3.78, normal profit for five years 30,000, 34000, 34000, 36000, 38000. Non —
recruiting income 1,600 and non recruiting expenses Rs. 1600.

Choose the correct alternative from the given options—

Options :

1. % Rs. 12582
2. ¥ Rs. 12852
3. % Rs. 12800
4. % Rs. 12182

Question Number : 239 Question Id : 5038908193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad faavor & & amfitfet gsfa & SR Bfa &1 4o fafae | goft wriRd 3,00,000 ¥, et &t HmI &* 10 iR €, U9 91 &
foTT 1 0T T IdHH T 10 UFA=Id 3.78 WR, Uid HId o folT AR 14 T9Y 30,000 , 34,000, 34000, 36000, 38,000 | TR-HT 3T 1600
FUA 3R TR Yff W 1600 3T |

fau 7T fdewedl O 9§ He! fadwed &1 99+ Hife-

Options :

1. % 12582 %00

2. ¥ 12852 30

3. % 12800 S0

4. % 12182300

Question Number : 240 Question Id : 5038908194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

When two firms come together to become one unit and they both have a share in the new firm, it is called —
Options :

1. ¥ Amalgamation

2. % Absorption

3. % Dissolution

4. ® Liquidation

Question Number : 240 Question Id : 5038908194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS & T U SIS S99 I 1T Ueh 1Y 31Telt & MR T2t vl B &1 3 Y 31=1 81 &, Y S o1 gl Tl 87

Options :
1. v GHHT
2. % 3{aRNUT
3. % fqged
4. % GRYHTTA
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Group Number : 13
Group Id : 503890194
Group Maximum Duration : 0
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Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No
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Discipline8
Sectiom Td— 503890318
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890381
Question Shuffling Allowed : Yes

Question Number : 241 Question Id : 5038908195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Entrepreneurs who are reluctant to introduce any changes in their production method and follow their own traditional style irrespective of loss of
profit or goodwill are known as—

Options :

1. #® Forced entrepreneur
2. ¥ Drone entrepreneur
3. # Fabian entrepreneur

4. ® Imitative entrepreneur

Question Number : 241 Question Id : 5038908195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ToeR S

2. ¢ S 3T
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Question Number : 242 Question Id : 5038908196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not the objective of entrepreneur development programmes?
Options :

1. #® Developing , achievement, motivation and sharpening entrepreneurial trails and behavior.
2. % Develop the favorable environment related to small business.

3. # Appreciate social responsibilities.

4. ¥ Follow the traditional techniques of production process.

Question Number : 242 Question Id : 5038908196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- fau U by 7 A B Il fasr SrishHI 1 Ie = el o-
Options :

1. % IYARNAA & I 3R AIER BT f[abT, Iuafed, TR 3R aS ST
2. % Y AIUY Y Y&lUd IHd aTaraRol &l fab ST

3. % ATl fSIRRAl &1 TRg &1 |

4. ¥ JIATCH UliohdT Dt URURS deh-iih] BT Ul |

Question Number : 243 Question Id : 5038908197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

State which of the following statement is true-

Options :

1. ¥ Training programs are planned to develop the technical and managerial skills.
2. % Innovations in business is not always favorable.

3. % There is no need of project planning, rules and regulations.
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4. ® (Classical approach of entrepreneurs|sounds better.

Question Number : 243 Question Id : 5038908197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofefEd & ¥ o9 91 HYT 93 8-

Options :

1. ¢ THAID! 3R USUHIT DI Iy B & forg UiRierr Sl &) a1 9418 T8 g |
2. % U § FdTER AR 3% T8 8id o

3. % ufxaeHr fareE, et SR fafFol &t o8 sragswdr T8l 8|

4. % I BT IRAT fVBI0 dgadR A1 2 |

Question Number : 244 Question Id : 5038908198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
NIESBUD was established by the —
Options :

1. # Reserve Bank of India

2. % State Government

3. ¥ Central Government

4. ® State Bank of India

Question Number : 244 Question Id : 5038908198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U318 3.8 d1.g I, (NIESBUD) & gRT =TI fovam T T
Options :

1. % YRaw Rord d%

2. % oY ARDPR

3. ¢ B WDR

4. % YR WC dF
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Question Number : 245 Question Id : SD38908199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With which of the following objectives EDII was established in Ahmedabad in 1983 as a resource organization?
Options :

1. # To co- ordinate the activities of small business development

2. ¥ To create institutional infrastructure for entrepreneurship development.

3. % To develop the rural entrepreneurship.

4. % To make the programs for SBL.

Question Number : 245 Question Id : 5038908199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad @ O frg IE=0 T SS13MEaMTs & RITUAT 3fgHarEIE H 1983 T Th SH1eH e & =0 J &1 T8 A2
Options :

1. % Y FIUY fdepT™ o AT T qo-ag 6 & ey

2. ¢ AT BN & foTT SRITT e e o1 (A0 B

3. % YTH IYHAT o1 fabT™ B

4. % TSNS & foru SrdeH ST

Question Number : 246 Question Id : 5038908200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

refers to all those activities which are to be carried out by a person to establish and to run the business enterprise in accordance with
the changing social, political and economic environments.

Options :

1. # Business

2. % Sole tradership
3. ¥ Entrepreneurship
4. ® Partnership
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Question Number : 246 Question Id : 5038908200 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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STH P! RATUT A 3R I & g foran Sran g |

Options :

1. # FMUR

2. # UDHA AUR
3. ¢ Il

4. % HrIer

Question Number : 247 Question Id : 5038908201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify which is not the characteristics of an entrepreneur.
Options :

1. ¥ Work with vision and mission

2. % Decision-maker

3. % They should not take risk

4. % Trouble shooting nature

Question Number : 247 Question Id : 5038908201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Uga Sl U JeH! &1 faRIveT g1 5
Options :

1. % T35 SR fiRM & 919 & &Y
2. % ol

3. ¥ 38 WIITGH 751 o1 A5y

4. % O IR Uhid
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Question Number : 248 Question Id : 5038908202 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following services is not provided by E- banking?
Options :

1. # Bill payment service

2. ® Fund transfer

3. # Cash withdrawal by ATM

4. ¥ Discount of Bill

Question Number : 248 Question Id : 5038908202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S-dfchT GRT B A JdTY UG &1 BT SIeht 82
Options :

1. % fod Yrae dar

2. % S SRR

3. % WA GRITohg Hdrl

4. ¢ fqadige

Question Number : 249 Question Id : 5038908203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the minimum number of members required to establish a public company?
Options :

1. %5

2. % 6

3.¥7

4. %38

Question Number : 249 Question Id : 5038908203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
U6 AdIe S &t RIMME] & U 7w fdm Iewl &t saxgddr gidt 82

Options :
1. %5
2. % 6
3.¥ 7
4. %38

Question Number : 250 Question Id : 5038908204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are Pillars of E- commerce which support open market process.
Options :

1. %2

2.¥ 4

3.% 8

4. % 6

Question Number : 250 Question Id : 5038908204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S-S & WY & o Gl STSIR Pt UfehadT Bl JHAA Hd & |
Options :

1. %2

2.¥ 4

3. %8

4. % 6

Question Number : 251 Question Id : 5038908205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year did the Indian Government identify nine central public sector enterprises as ‘Navaratnas’?
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Options :
L ¥ 1997

2. % 1998
3. % 1999
4. % 2000

Question Number : 251 Question Id : 5038908205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR WBR A {69 a8 T 9 H1g Araei-e & & IeH! B aRd' &b U § UgaHD
Options :

1. ¥ 1997

2. % 1998

3. % 1999

4. % 2000

Question Number : 252 Question Id : 5038908206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A company will have social responsibility towards -
1. Responsibility towards the shareholders or owners
2. Responsibility towards the Employees

3. Responsibility towards the Government

4. Responsibility towards the Community

Which of the following are correct one?

Options :

1. % Only 1,2 and 3
2. % Only 2,3 and4
3. % Only 1,3 and 4
4.9 1,2, 3and 4

Question Number : 252 Question Id : 5038908206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
U%h HUHL Bl JHING IoReIRd B -

1. STy sruar T & ufd STReIRId
2. HHAIRA & ufd IReR@

3. PR & Ufd IR

4. 99er & Ufd fordeR!
frfered & 4 19 a1 gel 22

Options :

1. % BHad 1,2 3R 3

2. % Pad 2,3 3R 4

3. % Had 1,3 3R 4

4.9 1,2,33R4

Question Number : 253 Question Id : 5038908207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Knowledge of Business Environment helps the businessmen to understand the opportunities for and threats to the business.” Who out of the
following said this?

Options :

1. # Henri Fayol
2. ¥ F W Taylor
3. % Peter Drucker
4. ® Elton Mayo

Question Number : 253 Question Id : 5038908207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafead # 3 fram a8 e 82, "y yaiavu &1 - T & Haur & ol e} 3R WaRl & gHgM § A aar gl
Options :

1. % 3R BAA

2.+ U S ek

3. % Ui ghR
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4. ® Teed HAY

Question Number : 254 Question Id : 5038908208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following factors does not determine fixed capital requirement of a business?
Options :

1. #® Size of business

2. % Process of Production

3. ¥ Inventory turnover rate

4. ® Type of products

Question Number : 254 Question Id : 5038908208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafed & @ &1 9 R B sgaumr & FiEd o siaxadwmd & Hufd T8t @l g2

Options :

1. ¥ AT bl DR
2. % JAIG Bl Ufehar
3. ¥ =l 3M1ad axX

4, % IdIC & YBR

Question Number : 255 Question Id : 5038908209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The mix of equity and debt actually used by a company for meeting its requirement of capital is known as its
Options :

1. # Leverage Effect

2. ¥ Capital Structure

3. % Debt Structure

4. ® Capital Plan
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Question Number : 255 Question Id : SD38908209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TP HUT GRT 370U Uoit Pt STIRG el Bl IR B P fo7T aRad H UGN o1 9 aTeit 3T 3R 0T & Hyor 1 ST &-
Options :

1. % Il UHTd

2. ¢ Yot AT

3. % FUT IS

4. % Uofl i

Question Number : 256 Question Id : 5038908210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Life Insurance Corporation of India set up?
Options :

1. # 1951

2. %1953

3. ¥ 1956

4. % 1958

Question Number : 256 Question Id : 5038908210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Sita- o191 St RG] fohg au | g3 2
Options :

1. # 1951

2. %1953

3. ¥ 1956

4. % 1958
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Question Number : 257 Question Id : 5038908211 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which ratio indicates efficiency in utilization of capital employed in generating revenue?
Options :

1. ¥ Working capital turnover ratio

2. % Total assets turnover ratio

3. Sales to capital employed ratio

4. ® Fixed assets turnover ratio

Question Number : 257 Question Id : 5038908211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 258 Question Id : 5038908212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Capital gearing ratio = Common Stockholder's equity / ?

Options :

1. ¥ Fixed interest bearing funds

2. # Long — term loans & advances
3. ® Reserve funds

4. ® Capital gains

Question Number : 258 Question Id : 5038908212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 259 Question Id : 5038908213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the oldest SFI (Special Financial Institution) that was set up in India?
Options :

1. ¢ Industrial finance corporation of India (IFCI)

2. % Industrial Credit and Investment Corporation of India (ICICI)

3. # Industrial Development Bank of India (IDBI)

4. % Industrial Investment Bank of India (IIBI)

Question Number : 259 Question Id : 5038908213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 260 Question Id : 5038908214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Mr. Robbin suffered a loss in business dug to fluctuation in price of goods. Identify the cause of busingss risk.

Options :

1. ¥ Political Cause
2. % Natural Cause
3. % Economic Cause
4. # Physical Cause

Question Number : 260 Question Id : 5038908214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % oHfdD HRUT
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4. % Mifdd SR
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Group Number : 14
Group Id : 503890195
Group Maximum Duration : 0
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Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
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Section Id : 503890319
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890382
Question Shuffling Allowed : Yes

Question Number : 261 Question Id : 5038908215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fixed Interest bearing funds do not include -
Options :

1. # Debentures

2. ¥ Preference share capital

3. # Long term investment

4. ® Public deposits

Question Number : 261 Question Id : 5038908215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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3. % drdeplfere FAaw

4. % oI STHT
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Question Number : 262 Question Id : 5038908216 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The excess of current assets over current liabilities is:
Options :

1. ® Profit of the business

2. # Capital reserve

3. % Working capital

4. ® Loss of the business

Question Number : 262 Question Id : 5038908216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % Golt 3Rf&a

3. ¢ BRI goit

4. % R BI I

Question Number : 263 Question Id : 5038908217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a feature of money market?

Options :

1. # It is related to short-term funds

2. # Money market deals in securities like treasury bills, commercial paper, trade bills, deposit certificates, etc.
3. % Participants in money market are commercial banks, non-banking financial companies, etc.

4. ¥ Money market is regulated by SEBI

Question Number : 263 Question Id : 5038908217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 264 Question Id : 5038908218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
State which of the following statement is not true regarding Human resource management (HRM)?
Options :

1. ¥ HRM (Human Resource Management) involves management functions like planning, organizing and directing but not related to
controlling.

2. % HRM involves team spirit and team work.
3. ¥ HRM helps to achieve individual, organization and social objectives.

4. ¥ HRM involves recruitment, development of human resources.

Question Number : 264 Question Id : 5038908218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ TI3IRTH (HHd e Faier) H Faiem, e $iR R S Useq S 2fHd § dfe a0 ¥ efed T8l § |
2. % TIHREA H EF HIaT 3R A9 9 WA B |

3. % UGSRUH AfGATd, T3 3R IS Il ol Utd B3 | Heg dRdl gl

4. % TYIIRTH H Wik, HTd JO1eH! o 4, fara i g1

Question Number : 265 Question Id : 5038908219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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In a balance sheet, closing stock is valued at—

QOptions
r

1. ¥ Cost price or market price whichever is less
2. % Cost price or market price whichever is more
3. # Market price only

4. ® Cost price only

Question Number : 265 Question Id : 5038908219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 266 Question Id : 5038908220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is not the objective of Human resource planning?

Options :

1. # To ensure optimum utilization of human resources available in an organization.

2. # To access or forecast the future skill requirement of organization.

3. % To train the human resources in those areas which are not required by the organization

4. ¥ To determine recruitment levels.

Question Number : 266 Question Id : 5038908220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 267 Question Id : 5038908221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who says "Recruitment is the process of searching for prospective employes and stimulating them to apply for jobs in the organizations"?
Options :

1. ¥ Edwin B. Flippo

2. % Lord

3. % Dale Yarder

4. % Steve Browne

Question Number : 267 Question Id : 5038908221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 268 Question Id : 5038908222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Recruiting is a process to discover the sources of man — power" according to Dale Yarder. Which sequence from the following of effective
selection is correct?
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Options :

L. H.R.P. (Human Resouce Planning)-Job Analysis — recruitment — selection — placement

2. % H.R.P. - recruitment — selection — job analysis — placement
3. # H.R.P. - selection — recruitment — job analysis — placement

4. ® H.R.P. —job analysis — selection — recruitment — placement

Question Number : 268 Question Id : 5038908222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST AT & ATIR "Hlf AFG-Tfad o Al B Giol B3 b T Hiehal " | FafaRed uqrd o= § @ -1 59 981 /2
Options :
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Question Number : 269 Question Id : 5038908223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Employees are offered several benefits in addition to wages, salary, allowances. These benefits and services are called—
Options :

1. ¥ Rewards

2. ¥ Fringe benefits

3. # Compensation

4. % Bonus

Question Number : 269 Question Id : 5038908223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 270 Question Id : 5038908224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is termination of service due to redundancy.
Options :
1. # Absenteeism
2. % Lay off
3. ¥ Retrenchment

4. ® Retirement

Question Number : 270 Question Id : 5038908224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 271 Question Id : 5038908225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is a process by which employee is downgraded and sent to a lower position from the One he 1s holding at present.
Options :
1. ¥ Demotion
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2. % Promotion

3 % Anpraisal
rr

4. ® Stagnation

Question Number : 271 Question Id : 5038908225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 272 Question Id : 5038908226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which theory points that we select our behavior based on the desirability of expected outcomes of the action?
Options :

1. ¥ Maslow’s theory

2. ¥ Employment theories

3. ¥ Expectancy theory

4. % Motivator’s hygiene theory

Question Number : 272 Question Id : 5038908226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 273 Question Id : 5038908227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Dividends are usually paid on.

Options :

1. # Issued Capital

2. ¥ Paid up Capital

3. % Authorized Capital

4. ® Uncalled capital

Question Number : 273 Question Id : 5038908227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. ¢ U gull

3. % 3P Yol
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Question Number : 274 Question Id : 5038908228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Buying and selling of fixed assets is:
Options :

1. # Proprietary activity

2. # Operating activity

3. # Financing activity


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

4. ¥ Investing activity

Question Number : 274 Question Id : 5038908228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g Tfcfafe

2. % e Tifafafy

3. % fa<itg nifdfafy
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Question Number : 275 Question Id : 5038908229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Every profit and loss a/c should be prepared as part of the companies Act. 2013.
Options :

1. % Schedule 1

2. % Schedule 2

3. % Schedule 3

4. % Schedule 4

Question Number : 275 Question Id : 5038908229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % SfIEl 1

2. % 32

3. ¢ 3l 3

4, % 3Tl 4
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Question Number : 276 Question Id : SD38908230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the electronic / computer based system of recording and carrying out of share transactions, stock exchanges go in for -
Options :

1. # fixed settlement

2. ¥ rolling settlement

3. # demat settlement

4. ® static settlement

Question Number : 276 Question Id : 5038908230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 277 Question Id : 5038908231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Kolkata Stock Exchange established?
Options :

1. ¥ 1908

2. % 1909

3. % 1910

4. % 1911

Question Number : 277 Question Id : 5038908231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. v 1908
2. % 1909
3. % 1910
4.% 1911

Question Number : 278 Question Id : 5038908232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not one of the constituents of the depository system?
Options :

1. ® DP

2. # Issuing Company

3. # Investors

4. ¥ RBI

Question Number : 278 Question Id : 5038908232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 279 Question Id : 5038908233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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In a single entry system, opening capital is calculated as:
Opening capital = closing capital + drawihgs — profit - ?

Options :

1. #® Income tax paid

2. # Sales

3. # Opening stock

4. ¥ Fresh capital introduced

Question Number : 279 Question Id : 5038908233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4, ¥ UAIAd T3 goit

Question Number : 280 Question Id : 5038908234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many depositories are there in India at present?
Options :

1.¥2

2. %3

3. % 4

4, %5

Question Number : 280 Question Id : 5038908234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 281 Question Id : SD38908235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is not the quality of a good commerce teacher?

Options :

1. ¥ A commerce teacher must be master of his subject.

2. % Master of psychology of learning and good psychologist.
3. ¥ He should apply classic approach for teaching the students.

4. % He must ensure proper management of the class.

Question Number : 281 Question Id : 5038908235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 282 Question Id : 5038908236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

State which statement is not true?

Options :

1. ® A good lesson plan should mention the subject, topic, date, time or duration for a particular class.
2. % It should contain the general objectives.

3. ¥ It is not necessary to mention specific objectives.

4. % Tt should include all the instruction aids to be used.

Question Number : 282 Question Id : 5038908236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 283 Question Id : 5038908237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Commerce education is —

Options :

1. ¥ That from of instruction that both directly or indirectly prepares the businessman.

2. ® Itincludes all types of education which make one person become a great sportsman.
3. % That it restricts to the school only.

4. ® Related to the education related to science and technology.

Question Number : 283 Question Id : 5038908237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 284 Question Id : 5038908238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
According to bloom’s taxonomy which is|not one of the domain of describing student’s behavior-

Options :

1. #® Cognitive

2. ¥ Psychology
3. % Affective

4. ¥ Psychomotor

Question Number : 284 Question Id : 5038908238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 285 Question Id : 5038908239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is the sample of teaching in which a teacher teaches a small group of pupils for a small period of time to acquire new teaching skills and refined
old ones?

Options :

1. # Macro- teaching

2. ¥ Micro — teaching

3. # Modifying teaching
4. % Personal teaching

Question Number : 285 Question Id : 5038908239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 286 Question Id : 5038908240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify which is not one of the element of the teaching process?
Options :

1. ® Student

2. % Teacher

3. # Curriculum

4. ¥ Parents

Question Number : 286 Question Id : 5038908240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 287 Question Id : 5038908241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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is the path through whiich the student has to go forward in order to reach the goal ehvisaged by education?

Options :

1. ¥ Curriculum

2. # Lesson plan

3. # Teaching — skill

4. % Method of teaching

Question Number : 287 Question Id : 5038908241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 288 Question Id : 5038908242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the following methods of teaching, which one is not useful for commerce teaching.
Options :

1. #® Lecture method

2. % Demonstration method

3. ¥ Use of laboratories

4. ® Project method

Question Number : 288 Question Id : 5038908242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 289 Question Id : 5038908243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘It is a planned attack upon a difficulty or perplexity for the purpose of finding a solution’. What is this method called?
Options :

1. # Lecture method

2. % Demonstration method

3. ¢ Problem solving method

4. ® Team teaching method

Question Number : 289 Question Id : 5038908243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 290 Question Id : 5038908244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which principle is not taking into consideration while constructing curriculum?
Options :

1. ® Principle of child centeredness
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2. ¥ Backward looking principle

3% (Conservative prin{‘ip]P

4. % Motivation principle

Question Number : 290 Question Id : 5038908244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 291 Question Id : 5038908245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Project method is based on four cardinal principles-
(1) Learning by doing

(i1) Learning by living

(ii1)) Working in natural settings.

Identify the fourth principle from the given options.
Options :

1. ¥ Problem — orientation

2. % Purposive planning

3. % Recording

4. # Learning by reading

Question Number : 291 Question Id : 5038908245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 292 Question Id : 5038908246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following methods a commerce teacher should apply to ensure progressive teaching?

(i) Regular lectures the classroom.
(i1) Providing commercial books, trade periodicals and government publications in commerce library.
(ii1) Arranging mock interviews in the school.

Options :

1. % Only (i)

2. ¥ (i), (ii) and (iii)
3. % (i) and (ii)

4. % Only (ii)

Question Number : 292 Question Id : 5038908246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 293 Question Id : 5038908247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

School bank is very useful activity in the school because.
Options :

1. ® It gives loans to the students.

2. ¥ It provides practical idea in banking subject.

3. # The school can take money at the time of need.

4. ® Tt increases the investment in the nation.

Question Number : 293 Question Id : 5038908247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 294 Question Id : 5038908248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
State which is not the purpose of arranging mock interview.
Options :

1. ¥ Commerce teacher teaches to the students how to face interviews for job placements in the school campus.
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2. % Mock interviews are organized so tHat students will remove their shyness and fears of interview mania.

3 % Interview are nrgﬂni79d so that studénts enjoy the drama.

4. ® This act may be organized in the farm of drama as the dramatic performances have strong effect on student’s mind.

Question Number : 294 Question Id : 5038908248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 295 Question Id : 5038908249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
technique is used to evaluate the student’s quality.

Options :

1. # Checklists

2. % Rating- scales
3. % Project report
4. ¥ Grading

Question Number : 295 Question Id : 5038908249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 296 Question Id : 5038908250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A lesson — plan is defined as ......... for the action in the near future.
Options :

1. #® Red print

2. % Yellow print

3. ¥ Blue print

4. ® Green print

Question Number : 296 Question Id : 5038908250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 297 Question Id : 5038908251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is not the benefit of preparing lesson plan.

Options :

1. # Clear knowledge about the teaching aids to be used in the class.

2. ¥ As teacher plans a lesson in a systematic way, it is time consuming.

3. # It correctly leads the teacher who sets his limits while teaching.
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4. ® Bvaluation is possible.

Question Number : 297 Question Id : 5038908251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Question Number : 298 Question Id : 5038908252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Should a school provide a separate commerce library for the students?

Options :

1. ¥ Yes, because in order to develop various skills of business, students need suitable books on commercial topics.
2. # No, because students can learn in the classroom by lecture method.

3. ¥ Yes, because the students need fun out of the classroom.

4. % No, because it is a time waste activity.

Question Number : 298 Question Id : 5038908252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 299 Question Id : SD38908253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One of the advantage of commerce forum.

Options :

1. ¢ It provides useful practical experience in real situations.
2. ® It overburdens the students with lots of responsibilities.
3. # Itis time consuming activity.

4. # It misleads the students by its number of actions.

Question Number : 299 Question Id : 5038908253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFaffea A Yot fa s i A U B

Options :

1. ¥ Ug aRdfae URfufaal #f Suanh aragiRe SiIHd UaH ol gl
2. % U B R 9gd IR Fordeial &1 g STaai gl

3. % Ug gAY o arel afafyr 2

4. % g U fafia Hrf gR1 faenfdal & ftg srar gl

Question Number : 300 Question Id : 5038908254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a co-curricular activity?
Options :

1. # Debates and competitions

2. % Commerce club

3. ¥ Lectures in the class room

4. % Commerce forum

Question Number : 300 Question Id : 5038908254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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